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Subject : GE_Q01-Q10_ PGTPHY
Question ID:- 1

ANNIIILATE

The word similar in meanng to the above word is :
(I) Consume

(2) Hesiate

(3) Destroy

(4) DBlame

Options:-

=1, Option ID :- 1,

s 2, Option ID :- 2,

= 3, Option ID :- 3,

= 4, Option ID :- 4,

Answer Given:- 3, Option ID : -3
Question ID:- 2

TRANSIENT
The word opposite in meaning to the above word is :
(1) Perpetual

(2) Saff

(3) Meaningless

(4) Noble
Options:-

=1, Option ID :- 5,
= 2, Option ID :- 6,
« 3, Option ID :- 7,
= 4, Option ID :- 8,
Answer Given:- 2, Option ID : -6

Question ID:- 3




T3, 280 AM Response Sheet

Stop playing :

Identify the Part of Speech of the underlined word,
(1) Participle

(2) Noun

(3) Conjunction

(4) Interjection

Options:-

«1, Option ID - 9,

« 2, Option ID :- 10,
« 3, Option ID :- 11,

« 4, Option ID :- 12,
Answer Given:- 1, Option ID : -9

Question ID:- 4

I expect to geta prize.

Choose the option in which the above sentence has been changed into Passive Voice :
(1) A prize has been expected by him

(2) A prize is expected by me

(3) Itis expected by me to get a prize

(4) A prize is expected of me

Options:-

«1, Option ID :- 13,

« 2, Option ID :- 14,

« 3, Option ID :- 15,

« 4, Option ID :- 16,

Answer Given:~ 1, Option ID : -13
Question ID:- 5

Ram said “Hurrah ! I have scored a goal.”

Choose the option in which the above sentence has been changed into Indirect Narration.
(1) Ram told Hurrah that he had scored a goal.

(2) Ram exclaimed that he had scored a goal.

(3) Ram exclaimed that I have scored a goal.

(4) Ram exclaimed with joy that he had scored a goal.

Options:-

w1, Option ID :- 17,
« 2, Option 1ID :- 18,
« 3; Option ID :- 19,
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« 4, Option ID :- 20,
Answer Given:- 4, Option ID : -20

Question ID:- 6

Rearrange the following jumbled words/phrases into a meaningful and grammatically correct
sentence,

(A) manners produced
(B) a favorable impression
(C)  on me

(D) his courteous

(1) (A)(B) (Q) (D)
(2) (D) () (B) (A)
(3 (D) A)(B)(©)
4 (B)(C) (D) (A)

Options:-

«1, Option ID :- 21,
« 2, Option ID :- 22,
« 3, Option ID :- 23,

= 4, Option ID :- 24,
Answer Given:- 3, Option ID : -23

Question ID:- 7

Identify the part of the following sentence that has an error in it :

Cannot one do what one likes of his own accord 7
(a) (b) (c) (d)

(1) (a)

(2) (b

(3 (e

4 (@

Options:-

«1, Option ID :- 25,
» 2, Option ID :- 26,
» 3, Option ID :- 27,
= 4, Option ID :- 28,
Answer Given:- 1, Option ID : -25

Question ID:- 8
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I have been sleeping all night.

Identify the tense in the above sentence.
(1) Present Continuous

(2) Simple Present

(3) Present Perfect Continuous

(4) Present Perfect

Options:-

«1, Option ID :- 29,

= 2, Option ID :- 30,

« 3, Option ID :- 31,

= 4, Option ID :- 32,

Answer Given:- 3, Option ID ; -31
Question ID:- 9

Fill in the blank in the given sentence by choosing the correct option out of the given ones.
| am happy him helping me.

(1) to;lor

(2) with; for

(3) for ; with

(4) on;on

Options:-

»1, Option ID :- 33,
= 2, Option ID :- 34,
= 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- 2, Option ID : -34

Question ID:- 10

Fill in the blank in the given sentence by choosing the correct option out of the given ones.

The patient is now free _ danger.
(1)  with

(2) off

(3) Hom

(4) without

Options:-

=1, Option ID :- 37,
« 2, Option ID :- 38,
« 3, Option ID :- 39,
» 4, Option ID :- 40,
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Answer Given:- 3, Option ID : -39

Subject : GH_Q11-Q20_PGTPHY
Question ID:- 11

et fau U T i Ugent wditie 3tad faemeT @ e wita-

I A B 9 oA e o sl sefEm o, gv sl sy F, ey oin et O Tt R w6 vm
fadh T BH ST 9 5] &, °F 79 =9 I I8 o § 1o 95 # 3T B W § 7 e faee e
o= I & wH 98 FR S T 7 e S, Sy i e 9 o el # e | S
T g Swifd w2 oW 21 a9 = o, et F o % Wy e 2

fader & A §

(1) == =1 faly S

(2) =T Y

(3)  HE-TEAD ] AL FHA
(4) 99— 1 FEER @
Options:-

«1, Option ID - 41,

= 2, Option ID :- 42,

« 3, Option ID :- 43,

« 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

et few T Wi R Ugeht ARtk St fEemed w9 s
Iz ard g4 A w1 witen fF w9 3T ol swfea H, g o sy d, e ot s o faaes 9 =10 vm
fardrer = g0 e 99 o §, o w9 EE | @A e € e e s dn 82 e fades e

SIe] WA &, B Ae) U GieT ) $HY Y el e, Srangvl i e 9 uit e F we 9 9usH
T HETEE S § 99 9 ) TEw = anaw, srefe F onary % WY 9eda 8 )

T S T T, T SR E
(1) 3

(2 =

(3) sfed

(4 fa@+

Options:-

«1, Option ID - 45,
= 2, Option ID :- 46,
=« 3, Option ID :- 47,
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« 4, Option ID :- 48,
Answer Given:- 4, Option 1D : -48

Question ID:- 13

e few U ey R ugeRt wEitie e fawea @ e it

o7 A B WA o ey R o sfae ol amfee o) g e sy, Fre el e d fades 0 w1 wm
e e Tl e 99 SR 99w = W ged w5 ond e s e w87 e s el
o AA 8w Al e Al 298 vy ed s, el s g g i eedl & w8 3aeH
are wEfaE s |3 99 9w 8 Gaw = e, st & s & g S99 €

TATGR ST 1 o @
(1) e 23=rE

(2) SAETYY SHEER

(3) ot

(4) T FEER

Options:-

«1, Option ID - 49,
= 2, Option ID :- 50,
« 3, Option ID :- 51,

« 4, Option ID :- 52,
Answer Given:- 4, Option ID : -52

Question ID:- 14

e faw Tu ey R Ugest waities 3tae famen @ e it

I 9 78 W oA witen i w0 et o srfEa 4, 9y o s d, e ein st F fade 5 i wm
fardrer e gard See a9 S 8, e w9 EE | EH i € 5 e e s i 8 7 e fades el
STe] ST &, B A S GneT ) I B el A9, SEyl o wEe 9 oft el F we | SueH
T OEtaE w9 9 99 9 ) TEE 5 anam, sterfre F enar % Wy Ser 8

FH-HT =l - = 6 7
(1) 99 3 Y

(2) T 3w s=f

(3) THEw #iw s
(4) =faa #in =R

Options:-

=1, Option ID :- 53,
« 2, Option ID :- 54,
« 3, Option ID :- 55,
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« 4, Option ID :- 56,
Answer Given:- 3, Option ID : -55

Question ID:- 15

‘9% v S H 21 3 9 §
(1) EAETEHE @

(2) WTEE a9

(3) Taur=rEF 9=

(4) eneles

Options:-

«1, Option ID :- 57,

« 2, Option ID :- 58,

« 3, Option ID :- 59,

= 4, Option ID :- 60,
Answer Given:- 2, Option ID : -58

Question ID:- 16

4] =1 ygaETE 95 T 6

(1) T
(2)  afren
(3) wEfE
(4) w&E
Options:-

«1, Option ID :- 61,
» 2, Option ID :- 62,
« 3, Option ID :- 63,
« &4, Option ID :- 64,
Answer Given:- 4, Option ID : -64

Question ID:- 17

‘envfE’ T ug IR T
(1) 5 59H

(2) o wmm

(3) dcqEE HAE

(4) HHERE TAH
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«1, Option ID :- 65,
= 2, Option ID :- 66,
= 3, Option ID :- 67,

« 4, Option ID :- 68,
Answer Given:- 2, Option ID : -66

Response Sheet

Question ID:- 18

ARG B D it e

(1y Tos=
(2) T3
(3)
(4)
Options:-

«1, Option ID :- 69,
« 2, Option ID :- 70,
« 3, Option ID :- 71,
= 4, Option ID :- 72,
Answer Given:- 1, Option ID : -89

Question ID:- 19

e A fam wfa
(1) Teme=r

(2) HEFH

(3) HFER

(4) Teremer
Options:-

«1, Option ID == 73,
= 2, Option ID :- 74,
» 3, Option ID :- 75,
« 4, Option ID :- 76,
Answer Given:- 1, Option ID : -73

Question ID:- 20
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‘geran 118§ TR A F it S H FEE

(1) =T FHH
(2) H¥GH FH
(3) IER FF
(4) FHH FF

Options:-

w1, Option ID - 77,
« 2, Option ID :- 78,
« 3, Option ID :- 79,

« 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Subject : GA_Q21-Q30_PGTPHY
Question ID:- 21

Consider the following statements :

(a) The president of India is elected by an electoral college in accordance with the system of
proportional representation

(b) The electoral college consists of only the elected members of Lok Sabha, Rajya Sabha and
Vidhan Sabhas

Choose the correct answer from the codes below :
(1) only (a) is correct

(2) only (b) is correct

(3) both (a) and (b) are correct

(4) both (a) and (b) are wrong

Frefafa s 7 fa=r wifeu
(a) WA % TgUTd F Tare ARAias TidEiaE T % ST UF FEEs dea 5w e
(b) et dee O Ao A, T SN fEameed F faffes s e d

Hr= fau o F2 | 9E I9 w1 FEA Fife
(1) ae (a) T
(2) EE (b) eI

(3) (a) @R (b) S, HE €
(4) (a) S (b) BT T ¥
Options:-

«1, Option ID :- 81,
» 2, Option ID :- 82,
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= 3, Option ID :- 83,

- 4, Option ID :- 84,

Answer Given:- 3, Option ID : -83
Question ID:- 22

‘Mission Indradhanush’, a Government of India initiative relates to which of the following ?
(1) literacy programime

(2) platform to promote cultural diversity

(3) wvaccinabion drive

(4) livlihood scheme for members of the LGBTQ community

W TR &1 e seue Frefafeas F 9 fams ot § o w82

(1) HEe rEEy
(2) wiewfow fafaus =1 ag@ =1 g9
(3) T At

(4) W& S H§ 2 ¥ HYEE F Geel & e AsiifE e

Options:-

«1, Option ID :- 85,
= 2, Option ID :- 86,
= 3, Option ID :- 87,

= 4, Option ID :- 88,
Answer Given:- 3, Option ID : -87

Question ID:- 23

Consider the following statements :

(a) Warren Hastings was the first Governor-General in India to have faced an impeachment
trial in the British Parliament

(b) Warren Hastings was acquiled in the impeachment trial

Choose the correct answer from the codes below :

(1) only (a) is correct

(2) only (b)is correct

(3) both (a) and (b) are correct

(4) neither (a) nor (b) is correct
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Frefafaa o w2 faar #if

(a) Fh= e fafey gug o werfidm fa=mor 1 g #3396 96 & T TEE S 9
(b) @0 ey & el faam | & s femn oy

A9 o 0 He § wél 9 B T4 Hi0 ;
(1) e (@) T &
(2) Fae (b) TEl

(3)  (a) &R () 31 W &
(4) (a) &R (b) 2T H & F1E Ff T 7 T

Options:-

«1, Option ID :- B9,

« 2, Option ID :- 90,

= 3, Option ID ;- 91,

« 4, Option ID :- 92,

Answer Given:- 3, Option ID : -91
Question ID:~ 24

Which of the following is not a guality of a non-metallic mineral called Mica ?
(1) Itsplits into thin sheets

(2) It has di-electric strength

(3) Itis not resistant to high voltage

(4) It has low power loss factor

frerfafan § § 0 sy T e afs w1 T T d 22
(1) 4% el vire & fawnfom & st @

(2) wHeRl WAYA (=E-zeiEe) vl wd e

(3) e = dlees & i wfesh 9d m#

(4) T T9ga 1 @\ FHEA E |

Options:-

«1, Option ID :- 93,
« 2, Option ID :- 94,
= 3, Option ID :- 95,

« 4, Option ID :- 96,
Answer Given:- 4, Option ID : -96

Question ID:- 25
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Which of the following statements is incorrect about the FEuropean Union (EU) ?

(1) EU creates a single market for its member

(2) EU has been awarded the Nobel Peace Prize

(3) Britain's exit from EU was through a Referendum

(4) Slovenia is the only EU member which has not adopted common currency of EU

i W9 (29) % 9§ & W oweE w1 T8 7

(1) g H= o7 deel & o et (=ieA) S S g

(2) ¥ FH e it [ERR WAH R T

(3) Toe U e HOE o W H o A g o)

(4) el g W UEEE T A § REA € g W (ST S s A s

Options:-

«1, Option ID :- 97,
= 2, Option ID :- 98,
« 3, Option ID :- 99,

= 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98

Question ID:- 26

Which of the following statement(s) is/are correct about manure ?

(a) It is an organic substance obtained from the decomposition of plant or animal wastes
(b) It improves soil texture

(c) It reduces the water relaining capacity of the soil

Choose the correct answer from the codes given below :

(1)  Only (a) and (b) are correct

(2) Only (a) and (¢) are correct

(3) Only (a) is correct

(4)  Only (c) is correct
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e % 9 H fefafag § 9 a9 avd F9m 9di §7
(a) € 9T 9 WY ST F ATEEA | UE UF o F 99 ®
(b) % oz =1 s 9 gum % &
(c) g& foedl =1 Sie YR LRl i FH FE B
4 feu 52 H A wd e o
(1) (a) 3 (b) W&t &
(2) (a) ¥ (c) WE
(3) e (a) T E
4) FAA()TAE
Options:-
«1, Option ID - 101,
=« 2, Option ID :- 102,
« 3, Option ID :- 103,
« 4, Option ID :- 104,
Answer Given:- 1, Option ID : -101
Question ID:- 27 |

Which constituent of petroleum is used for road paving/surfacing ?
(1) Bitumen

(2) Paraffin wax

(3) Naphthalene

(4) Coke

TEfeaH & i | Heeh & ' Hed Wae faerse wd fEer & i wEm F e s @ 2

(1) fagfis
(2) Toftes G=m
(3) TR
(4) I
Options:-

«1, Option ID :~ 105,
« 2, Option ID :- 106,
= 3, Option ID :- 107,

= 4, Option ID :- 108,
Answer Given:- 1, Option ID : -105

Question ID:- 28
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Who among the following players won the FIFA World Cup 2022 "Golden Boot” award ?
(1) Lionee Messi

(2) Kylian Mbappe

(3) Enzo Fernande

(4) Julian Alvarez

GIHl des &Y, 2022 H ‘Hrega 92’ & yoen Frefafes 9 § fen i ?

(1) Ters S
(2) =Aferas AEy
(3) WS A

(4) e g
Options:-

«1, Option ID := 109,
« 2, Option ID :- 110,
« 3, Option 1D :- 111,

= 4, Option ID :- 112,
Answer Given:- 1, Option ID : -109

Question ID:- 29

Who ameng the following authors won the ‘Sahitya Akademi Yuva Puraskar’, 2022 in Telugu
language ?

(1) Pallipattu Nagaraju

(2) Siddhardha Kalta

(3) Narra Praveen Reddy

(4) Nanda Kishore

e T e SRl A e, 2022 feE e S ?
(1) ITEAIEE AHrs

(2) Tage e
(3) T WA e
(4) a1 fen
Options:-

=1, Option ID :- 113,
= 2, Option ID :- 114,
L] 3; Opﬂﬂn ID e 115'
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« 4, Option ID :- 116,
Answer Given:- 4, Option ID : -116

Question ID:- 30

Which of the following options correctly represent the aspect ratio ?

(1) Itis the ratio of length of the screen to the height of the screen

(2) Ttis the ratio of height of the screen to the sum of the length and height of the screen
(3) Itis a feature that is used to adjust the screen brightness

(4) It is a feature that is used to adjust the screen color composition

Foetferfim 5 & 27 @ ey w9 Tee] %) 99 B A Frefea e 87
(1) 9% BhiA o1 o R THE F FEE H I 8

(2) AESEM H SAE SN S F @ A SEE & 9 & SEE T
(3) FE T &I AI0G & HHES e & g o

(4) IE T ki G GO (el FETEYR) *® G g Ygad e g

Options:-

«1, Option ID :~ 117,
« 2, Option ID :- 118,
= 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 1, Option ID : -117

Subject : RA _Q31-Q35_PGTPHY
Question ID:- 31

Choose the correct alternative that will continue the same pattern and replace the question
mark (?), in the given number of series.

3, 5,10,14, 17, 23, 24, 7

(1) 30
(2) 31
(3) 32

(4 33
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TR W e w2 S fan e gaen § w6 Ted 9 | sR uw e o) mowm A
3, 5,10,14, 17, 23, 24, ?

(ty 30D
(2) 31
(3) 32
(4) 33
Options:-

«1, Option ID :- 121,

« 2, Option ID :- 122,

« 3, Option ID :- 123,

= 4, Option ID :- 124,

Answer Given:- 3, Option ID : -123
Question ID:- 32

Six friends Kamla, Tanu, Priya, Deepa, Vimla and Rashmi are sitting on the ground in a hexagonal
shape facing towards the centre of the hexagon. Rashmi is not neighbour of Tanu and Vimla.
Deepa is not neighbour of Tanu and Priya. Vimla and Tanu are neighbours. Kamla is in the
middle of Tanu and Deepa. Deepa is in the left of Rashmi. Who is sitting oppaesite to Kamla ?

(1) Deepa

(2) Kamla
(3) Priya
(4) Tanu

e weferal smer, 79, o, 4, fomen =it 1m v sgyoeR | ugye % %2 & &t 0y o o
21 ¥ | wvm, e siv faven = wSw w6 €1 dw, w9 iR e . vew =@ # ) famen s w wSed §)
N, T 7 E F o H 9 T F, i F e e =R

FHHE h 9 HH wE 22
(H
(2) =hHE
(3) T
(4)
Options:-

«1, Option ID :- 125,
= 2, Option ID :- 126,
» 3, Option ID :- 127,

« 4, Option ID :- 128,
Answer Given:- 1, Option ID : -125
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Question ID:- 33

If North becomes South-East, East becomes South-West, South becomes North-West and West
becomes North-East, then what will MNorth-West becomes 7

(1) North
(2) East
(3) West
(4) South

gfe ‘s @ o1 ‘afio-ud, (gl 5 sred gl afe, gl g e ofvem o afvem @ e
‘s-gd " fam 9 @ se-gfvEn w ord Fmr T ?

(1) 3=
(2 T
(3) ufEm
(4) =T
Options:-

=1, Option ID :- 129,
= 2, Option ID :- 130,
= 3, Option ID :- 131,

" 41 Dpﬂﬂn ID :- 13:,
Answer Given:- 2, Option ID ; -130

Question ID:- 34

You are given a question and two statements numbered Land Il each containing some information,
Decide which of the statements is/are sufficient to answer the question ?

L6}
(I) : Divya and John reached together
(1) : Fatima and Ashish reached together

(1)  The statement 1 alone is sulficient to answer the question while the statement II alone is nol
sufficient to answer the question.

Who reached office late among Divya, Fatima, John, Pivush and Ashish ?

(2)  The statement I alone is sufficient to answer the question while the statement | alone is not
sufficient to answer the question.

(3) Both statements | and II together are necessary to answer the question.
(4) Both statements T and IT together are not sufficient to answer the question.
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¥ uw A fom e € Tous am wue-1 o 1 fau mo € ) ol el d %o seedd 4t wd 81 = Fiofa

whife o5 9 AUY F99 Y94 ) I @4 F fore gt 87 2

Y TeEm, i, S, 99 SR SRy § | A AT 50 F 1EY 7

(): Te=n ofw & U @Y vEE |

(I1) : "Erfasn 37 2A09fiy v =19 18 |

(1) 3Fhel FY-18 W97 %1 ST I & o0, 741a & sfe ekl 9-11 799 1 302 24 & fe 94 e
7l

(2) #hel Y11 B 99 1 I o & o gaa @ sElE el H99-1 99 o1 3 EA % forg waia =@
sl

(3) U1 ST RIS A e W W 99 24 o T et )

(4) FEA-l AR FA-11, T WY TR i 9 1 S o % ferd vt A © |

Options:-

«1, Option ID :- 133,
» 2, Option ID :- 134,
» 3, Option ID :- 135,

« 4, Option ID :- 136,
Answer Given:- 3, Option ID : =135

Question ID:- 35

In the following figure, circle represents strong men, square represents intelligent men and triangle
represents tall men,

Which number represents strong men who are also tall and intelligent ?
() 4

@ 7

(3 1

(4) 12
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fefefan st §, 39 Fere e, 1 ieTH T SR e o E T 1 R S 6

1
7 1a \9
12\

13

F T HEA I FEIE gE S € o v 3 ghenm o §)
(1) 4
2 7
(3 1
4 12

Options:-

«1, Option ID == 137,
« 2, Option ID :- 138,
« 3, Option ID :- 139,

« 4, Option ID :- 140,
Answer Given:- 1, Option ID : -137

Subject : CL_Q36-Q40_PGTPHY

Question ID:- 36

Which of the following devices converts human-understandable instructions and data into a form
that computers understand and process ?

(1) Printer

(2) Monitor

(3) Input devices
(4) Owutput devices

fr=fafes 4 9 i 9 feang ora-gwrra e @ =@ % o 1 w0 § ufehie 2w §
FEgEY HHE & WHH 7

(Hy =
(2) HHR=L
(3) ¥ feamw
(4) @mEegE fearw

Options:-
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«1, Option ID :- 141,
= 2, Option ID :- 142,
= 3, Option ID :- 143,

« 4, Option ID :- 144,
Answer Given:- 3, Option ID : -143

Question ID:- 37

DVD stands for :

(1) Dual Video Disc

(2) Durable Video Disc
(3) Digital Versatile Disc
(4) Discrete Versatile Disc

21 & €1 (DVD) 1 A9 §
(1) Dual Video Disc

(2) Durable Video Disc
(3) Digital Versatile Disc
(4) Discrete Versatile Disc

Options:-

=1, Option ID :- 145,
= 2, Option ID :- 146,
= 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 3, Option ID : -147

Question ID:- 38
Which of the following is not an example of popular web based search engines ?
(1) Bing

(2) Edge
(3) Yahoo
(4) Google

frefafEa § § =9 91 v A 99 A 99 399 & 5= A8 8 7
(1) fam (Bing)

(2) T (Edge)

(3) % (Yahoo)

(4) T (Google)
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Options:-

«1, Option 1D :- 149,

« 2, Option ID :- 150,

« 3, Option ID :- 151,

« 4, Option ID :- 1532,
Answer Given:- 2, Option ID : -150

Question ID:- 39

This is a type of malwares that we download onto cur smartphones, disguised as useful apps or
games, but usually take control of our smartphones to damage and steal our data.

(1)  Virus

(2) Spam

(3) Trojan
(4) Phishing

TE 39 WK W Teae € T # ered mEw | w3t vy a1 i ' geaee w € g e
T TR W A % o €, 20 SR g4 A © SN g e )

(1) == (Virus)

(2 ¥ (Spam)

(3) €19 (Trojan)

(4) TR ( Phishing)

Options:-

=1, Option ID :- 153,

« 2, Option ID :- 154,

« 3, Option ID :- 155,

« 4, Option ID :- 156,

Answer Given:- 1, Option ID ; -153
Question ID:- 40

Which of the following can’t be a valid email id ?
(1)  An email id having multiple “@’

(2)  An email id having multiple *." (dots)

(3)  Anemail id having multiple *_* (underscore)
(4)  Anemail id having multiple digits ((-9)
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faAfefan § 9 %9 o v fafam= £ T o < 5 9 9 82
(1)  An email id having multiple ‘@’

(2) An email id having multiple *." (dots)

(3) An email id having multiple ° ° (underscore)

(4) Anemail id having multiple digits (0-9)

Options:-

«1, Option ID :- 157,
« 2, Option ID :- 158,
» 3, Option ID :- 159,

« 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : UL_Q41-Q55_PGTPHY
Question ID:- 41

What is the role of PTA in school ?

(1) Regular monitering of student activity

(2)  Act as bridge between school and community
(3)  To support school principal

(4) To guide the children in co-curricular activities

forarea ¥ afvsas-foerss 5= 1 #1 yiee § 72
(1) Tommem % wEsan & g sEeam
(2) foemerm #in OqEE % 98T 0 H wE F
(3) Toemem ¥ W= 1 9EE0 WEH wE

(4) HE-UIST=A] wEEHATd § TeTH] & Geey

Options:-

«1, Option ID :- 161,
« 2, Option ID :- 162,
= 3, Option ID :- 163,

« 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162

Question ID:- 42

What is the best way to enhance learning ?

(1) by good communication

(2) through AV Aids

(3) through activity method

(4) use ICT tools and digital game based method
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wferm ¥ sifvgfs w27 % ga i = E?

(1) =d| T & gy 3 sy

(2) 9=9-93 IR F AT H sfie

(3) Friwey Tsfd ¥ st

(4) =18 =i 2 @R fesies ™ swafi| vl 4 At

Options:-

=1, Option ID :- 165,
« 2, Option ID :- 166,
« 3, Option ID :- 167,

« 4, Option ID :- 168,
Answer Given:- 4, Option ID : -168

Question ID:- 43

What is the purpose of ‘assessment of learning’ ?

(1) To measure amount of learning

(2) To judge the polential of the child in subjects

(3) Provide evidence of learning and gaps to improve
(4) To promote to next class

“aafirT F AR A WA B 2

(1) &feEm 3 uftEm & 99 |

(2) Tafsr= fawdi § arers 1 sma & daa 9 o @0

(3)  waferTy SR AR (79) 1 WA W O A1 A R S |
(4)  STTE! e H WHE S0 (ST & Tl 9T )

Options:-

«1, Option ID - 169,
« 2, Option ID :- 170,
« 3, Option ID :- 171,

« 4, Option ID :- 172,
Answer Given:- 1, Option ID : -169

Question ID:- 44
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What is the significance of CCE in classroom ?

(1) The children will be evaluated in scholastic subjects

(2) Ewaluation covers all parametres to measure personality development
(3) Ewvaluation of scholastic and co-scholastic areas

(4) Examination are flexible

e o wea 30 sy gegime (df | §) w1 e g7

(1) =TT % 3750 & ol 1 gedisy e |

(2) HEAiTA § Al A F A gaE T AEe mind €
(3) HEHEA AR HE-AUEA AF # qodid

(4) whan dEER )

Options:-

«1, Option ID :- 173,
= 2, Option ID :- 174,
« 3, Option ID :- 175,

= 4, Option ID :- 176,
Answer Given:- 2, Option ID : -174

Question ID:- 45

Which one of the following is visual instrumental material ?
(1) Text books

(2) Charts

(3) Calculators

(4) Black Board

frrefafas § & w0 g it (Fme) JrE &2

(1) HieagEE
(2) wE
(3) HerFerR
(4) ¥HHHE
Options:-

«1, Option ID - 177,
« 2, Option ID :- 178,
« 3, Option ID :- 179,
« 4, Option ID :- 180,
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Answer Given:- 2, Option ID : -178

(1)
(2)

Question ID:- 46

What do you mean by experimental learning ?

Writing new information
Learning by doing

(3)  Act of memorizing

(4) Frequent drilling

grEieR siferms | smE @0 aeed §2
(1) 7 g fEa

(2) eTEEIW F e | sfis

(3) T T A

(4) @mEE Hey

Options:-

«1, Option ID - 181,
« 2, Option ID :- 182,
« 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 2, Option ID : -182

Question ID:- 47

Which one of the following factor affects learning ?

(1) Teacher's personality

(2) Principal’'s dynamism

(3) School ambience

(4) Peer pressure

Fretifara | s axfipm wwifaa dar 7
(1) @&q9e = =faE

(2) wrErE et e

(3) Teremer w1 wfEw (A

(4) HEFEHY TEE

Options:-

«1, Option ID :- 185,
« 2, Option ID :- 186,
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(1
2
(3)
(4)

=« 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 3, Option ID ; -187

Question ID:- 48

The following would form better learning space in school :

Class room
Library

Digital Lab
Sports Field

fr=ifra & fammera ¥ Ssa stfrm ufdw =1 g9+ 2 e

(1) el

(2) ERTEE

(3) Tesiea

(4) EEF HEH
Options:-

«1, Option ID == 189,
= 2, Option ID :- 190,
= 3, Option ID :- 1921,

« 4, Option ID :- 192,
Answer Given:- 2, Option ID : -190

(1)
()
3)
(4)

(1)
(2)
(3)
(4)

Question ID:- 49

Cognitive learning is :

Active style of motor muscles
Reflection of emotional feelings
Maximizing Brain's aclivity
Enhancing internet in subject

HarH AT £ -

e Uterdl (Hiet vees) 1 9iEa 99l
wiafre vl w1 wfafas

T % wEEa 1 Afusa T T 2w
o § Hefig gere dava

Options:-
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«1, Option ID :- 193,
« 2, Option ID :- 194,
= 3, Option ID :- 1595,

« 4, Option ID :- 196,
Answer Given:- 3, Option ID : -195

Question ID:- 50

Why school is a miniature society ?

(1) Ttis agroup of diversified people.

(2) Particular group of humanity with shared customs.
(3) The students represents cross section of society.

(4) Hetrogenous group of students,

e F 2R HEEd 27

(1) == fafaumayel geyiE F @0l = 998 B

(2) 5 we @ AAe w6 e ae )

(3) Tt = & faf= oot = wfeffae 0§
(4) TernfeE =1 fomm wE 21

Options:-

=1, Option ID :- 197,
= 2, Option ID :- 198,
= 3, Option ID :- 199,

» 4, Option ID :- 200,
Answer Given:- 3, Option ID : -199

Question ID:- 51

The qualitative change in personality of child refers to :
(1) Growth

(2) Invisible change

(3) Maturation

(4) Visible Change
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AT % safade § ones wftady w1 aeed Froifes | 9 fred 272
(1) fawE

(2) @rEwE i
(3) afogeE

(4) ZyaOE gfEds
Options:-

«1, Option ID :- 201,

« 2, Option ID :- 202,

» 3, Option ID :- 203,

= 4, Option ID :- 204,

Answer Given:- 4, Option ID ; -204
Question ID:- 52

What is the role of development in child psychology ?
(1) It helps in fixing goals.

(2) Tt determines readiness for learning,

(3) It determines behavior,

(4) [t focuses on memory.

ATA HATaaT | o #1 # qiE w7

(1) =99 wey Frafon | g foed €

(2) =9 sifrm % fo e sEafE @ g
(3) =99 =Een Fifm Em &

(4) =9 wfa W aw T =g

Options:-

»1, Option ID :- 205,
= 2, Option ID :- 206,
= 3, Option ID :- 207,

= 4, Option ID :- 208,
Answer Given:- 1, Option ID : -205

Question ID:- 53

The socio-emotional learning is the process of
(1) Self-discipline

(2) Development of linguistic ability

(3) Self development

(4) Developing self-control
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gfas-aEfTF afum frefers 8 8 e um 22

(1) SAH-STIeEA
(2)  wmurE g fasry
(3) sIeR-TeeRm

(4) 2Aeq-Frrem fasfaa &

Options:-

«1, Option ID - 209,

« 2, Option ID :- 210,

« 3, Option ID :- 211,

» 4, Option ID :- 212,

Answer Given:- 4, Option ID : -212
Question ID:- 54

Which psychological factor helps learning ?
(1) Age

(2) Sleep

(3) Motivation

(4) Internet

i O FEEE S sfae ¥ gEs g7

(1) =g

(2) fam

(3)  aAfugT

(4) FewE
Options:-

«1, Option ID - 213,
« 2, Option ID :- 214,
« 3, Option ID :- 215,
« 4, Option ID :- 216,
Answer Given:- 3, Option ID : -215

Question ID:- 55
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Regular meeting of parents and social workers in school would ensure :
(1) Hoeme school continuity.,

(2) Proper understanding of the teachers.

(3) Reducing commumicabion gap between students and teachers,

(4) Co-operation to enhance school resources.

formem # wifsaeni @ wmnfes wwdled o1 faft 3 | #n ghfes am g2
(1) 75 Taemera =1 | |

(2) =TI w1 ShEd T |

(3) Temnfefi st spoamaet % oy YUY HEUE F FH FE

(4) Toerem =1 goyH agn @ WA

Options:-

«1, Option ID == 217,
« 2, Option ID :- 218,
« 3, Option ID :- 219,

= 4, Option ID :- 220,
Answer Given:- 4, Option ID : -220

Subject : UTL_Q56-Q70_PGTPHY

Question ID:- 56

Do the ICT tools in classroom threaten the teacher’s role ?
(1) Notatall, if teacher is updated in ICT skills,

(2) Yes, certainly it poses threat.

(3) Makes no difference for teachers.

(4) Teacher can use traditional methods of teaching,

) el ¥ qEa 3 SEn Wi F Seen Iuse 8 8 A H1 qHE 5 2 Sl € 7
(1) Tacga =4, afe siengr #1 sudEEl S B F ST T L

(2) @, zod fifvem w9 & s w1 swfa g §)

(3) SHERI TSR] T IS U9E TE g2 #

(4) SEATIH HEATTA =i GRAE [afedl &1 I S HEd €

Options:-
«1, Option ID :- 221,
« 2, Option ID :- 222,
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= 3, Option ID :- 223,

= 4, Option ID :- 224,
Answer Given:- 1, Option ID ; -221

Question ID;:- 57

How students’ feedback on teaching would help the teachers ?
(1) It would certainly refine quality of teaching,

(2) Students would be biased.

(3) Teachers does not require feedback from the children.

(4) It may have negative impact on teaching,.

FoE & a1 o famfet 9 ura wigds oA o fom e weR gerees g ?
(1) zod Ffvsa a7 seargs i e gfvssa 2

(2) foenel vammE i

(3) TSR] I AT | HIEAE w0 i SATEwar Tl Wedl £

(4) THH FATH W THEIREF THH T8 HHAl 21

Options:-

»1, Option ID :- 225,
= 2, Option ID :- 226,
= 3, Option ID :- 227,

« 4, Option ID :- 228,
Answer Given:- 1, Option ID : -225

Question ID:- 58

What is major challenge in ICT applications in classroom in rural sector ?
(1) Lack of furniture in lab

(2) Lack of trained teachers

(3) Lack of power and internet

(4) Lack of motivation
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urfto &5 F e e sEwEn # ae A e 7

(1) wETTeen § A S

(2) uforfera-semmi 1

(3) Tase 2R g2z & A

(4) ST & A

Options:-

«1, Option ID :- 229,
« 2, Option ID :- 230,
= 3, Option ID :- 231,

= 4, Option ID :- 232,
Answer Given:- 3, Option ID ; -231

Question ID:- 59

What is the role of lesson plan in classroom ?
(1) Meets the administrative requirement

(2
(3

) The teachers cannot deviate schecule
) It helps achieving learning outcomes

(4) It assists the teachers to evaluate the learner

el 8 3 A ) w vfte ¥ 2

(1) T88 FomwiT e g8 8 8 |

(2) emE FuifE Siee (Aee) § ferafem 780 & 9% 2
(3) zEd sl aftom wra 39 o weE e g

(4) THH FATTH ] AR F HediH H4 § e et §)
Options:-

-1, Option ID :- 233,

« 2, Option ID :- 234,

« 3, Option ID :- 235,

« 4, Option ID :- 236,
Answer Given:- 3, Option ID : -235

Question ID:- 60
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A student feeds dogs in school during recess period, comes under :
(1) Designed curriculum

(2) Maoral education

(3) Hidden curriculum

(4) Owert curriculum

Tereneff wemat s (&9 Wiferz) ® 9 %1 faem 8, 75 Feifea § 3 fras aof & am g2
(1) ®ivele TRy

(2) ifeen o

(3) Towm g (U= YT
(4 Taga T=a#d

Options:-

=1, Option ID :- 237,
=« 2, Option ID :- 238,
« 3, Option ID :- 239,

« 4, Option ID :- 240,
Answer Given:- 2, Option ID : =238

Question ID:- 61

The famous example of classical conditioning of Tvan pavlov on dog refers to @
(1) Connectivism

(2) Behaviorism

(3 Cognitivism

(4) Constructivism

59 UrEeilE gR1 YA Wi v senfEEt (wneie) e o wfes sem E

(1) wHoFERE
(2) =AgERER
(3)  HIFARHEFAEE
(4) THAER
Options:-

«1, Option ID :- 241,
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= 2, Option ID :- 242,
=« 3, Option ID :- 243,

= 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Question ID:- 62
What is the basic principle of constructivism 7
(1) Knowledge is built on existing knowledge
(2) Social learning
(3) Contextual learning

(4) Motivational learning

=it o & TR F1 geyE fash g7
(1) FF = i faemm 3@ w8 &

(2) feemem o wifam

(3) EevT st

(4) aATETOIERER SHiH

Options:-

=1, Option ID :- 245,

= 2, Option ID :- 246,

« 3, Option ID - 247,

« 4, Option ID :- 248,
Answer Given:- 1, Option ID : -245

Question ID:- 63

The annual instructional plan would ensure :
(1) Effective classroom transaction

(2)  Wholesome teaching

(3]  Accomplishment of learning outcomes

(4) Preparation of unit plans effectively
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aiftier e g |9 Freifera | § = gfafEa g ?

(1) 9TE] =Re Heeer

(2) Teaswl e

(3) @t gftomy i i

(4) g2 ETH F 99E @0 T A

Options:-

«1, Option ID :- 249,

« 2, Option ID :- 250,

« 3, Option ID :- 251,

= 4, Option ID :- 252,
Answer Given:- 1, Option ID ; -249

Question ID:- 64
The following is the tool to achieve intended learning outcomes :
(1) Annual plan
(2) Unit plan
(3) Lesson plan

(4)  Audio visual Aids

foeifare o 9 7 sventae safemmm gftomy e =T = |/ ©

(1) =i e
(2) gfe =H
(3) T A

(4) 951 593 F9H

Options:-

«1, Option ID :- 253,
= 2, Option ID :- 254,
» 3, Option ID :- 255,

= 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255

Question ID:- 65
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The diagnistic assessment aims al ;

(1) finding out the strength of the child.
(2) remediating learning.

(3) knowing level of learning,

(4) measuring emotions of the child.

et gegis = w5
(1) e % Yae T8 = T e
(2) AT H O AR T ] HEEE
(3) @™ F W SED
(4) ATETER 1 M ®1 A
Options:-
«1, Option ID - 257,
=« 2, Option ID :- 258,
« 3, Option ID :- 259,

= 4, Option ID :- 260,
Answer Given:- 2, Option 1D : -258

Question ID:- 66

The open style of questions in exam would fest:
(1) Rote memory

(2) Applied aspects

(3) Critical thinking

(4) Scientific temper

wiien # Wi w1 qE Gl Feifea § 9 fae sl g ?
(1) et Fih 415 &

2) SggE ue

(3) SEEATEE T

(4) darf= ygh (gfesm)

Options:-
«1, Option ID :- 261,
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=« 2, Option ID :- 262,
= 3, Option ID :- 263,

= 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263

Question ID:- 67

The main aim of classroom observation is :

(1) to get feedback on teachers from students,
(2) to get introspection by teachers.

(3)  to fulfil administrative requirements,

(4) to assess teachers ability.

Faf] QG (SFEEHA) S e ©

(1) Taenfeli § spsret & @it | weds (wfgfe) s s
(2)  SATATTRI FRI STTHALIE A

(3) WIETE ST 9w

(4) AT 1 AR H HEdiFA

Options:-

»1, Option ID :- 265,
» 2, Option ID :- 266,
= 3, Option ID :- 267,

= 4, Option ID :- 268,
Answer Given:- 4, Option ID : -268

Question ID:- 68

Cellaborative group work is an example of
(1) Divergent thinking

(2) Aclivity based learning

(3) Constructive Learning

(4) Cognitive learning
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HewfiargEe wgfes wef Feifae 4 9 s sgmm €7

(1) Sfge &

(2) EEEHEN e S

(3) T=AeE i

(4) HIFAEER A
Options:-

«1, Option ID :- 269,

« 2, Option ID :- 270,

« 3, Option ID :- 271,

= 4, Option ID :- 272,
Answer Given:- 2, Option ID ; -270

Question ID:- 69

The practical experience of the child would enhance :
(1) Learning

(2) Thinking

(3) Feeling

(4) Interest

AT & WHETE w9 § s # # el afvats @2

(1) @fery
(2) TemA
(3) v
(4) wfusfs
Options:-

«1, Option ID :- 273,
« 2, Option ID :- 274,
= 3, Option ID :- 275,

= 4, Option ID :- 276,
Answer Given:- 4, Option ID : -276

Question ID:- 70
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What is inclusive education ?

(1) Special education for disabled

(2) Education to all the children irrespective of sex, caste, creed and disability
(3) Women education

(4) Integrated education

werall faen w57

(1) Teemim 57 % fem favm foen

(2) Temm, =fa, g s f.vmam @ e o fam w9l e # fog e
(3) wfeead =t foen

(4) U e

Options:-

«1, Option ID :- 277,
« 2, Option ID :- 278,
= 3, Option ID :- 279,

= 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

Subject : CCLE SOL PE_Q71-QB0_PGTPHY

Question ID:- 71

Dyslexia refers to :

(1) Inability to write
(2) Inmability to learn
(3) Inability to speak
(4) Inability to see

fewfem & s3fua # -
(1) Eq e
(2) stferETg SerE

(3) S=h b
(4) g stem
Options:-

«1, Option ID :- 281,
« 2, Option ID :- 282,
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= 3, Option ID :- 283,
= 4, Option ID :- 284,
Answer Given:- 2, Option ID ; -282
Question ID:- 72
What is the major challenge in society dealing with stubborn children with restlessness ?
(1) Non-cooperation of parents
(2) Defective curriculum
(3) Lack of professional counsellors
(4) Inefficient teachers

5 o AEE F HoraEn w0 § 991 A fraitra § @ E e
(1) sifgvrEert 9 weam T8 e

(2) < e

(3) SAEEIIF WHTETTA] A9

(4) HHY SATTF

Options:-

«1, Option ID :- 285,
= 2, Option ID :- 286,
= 3, Option ID :- 287,

= 4, Option ID :- 2B8,
Answer Glven:- 4, Option ID : -288

Question ID:- 73

Low vision of child comes under :
(1) TIntellectual Disability

(2) Physical Deformity

(3)  Mental Disability

(4) Sensory Disability

AT ' w1eq efte’ e § O few Sl A e &2

(1) =ifg® fezama
(2) e fawfa
(3) =t s
(4) Hea feeima

Options:-
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«1, Option ID :- 289,
= 2, Option ID :- 290,
= 3, Option ID :- 251,

« 4, Option ID :- 292,
Answer Given:- 4, Option ID : -292

Question ID:- 74

‘Mood swinging” of the child indicates :
(1) Low socialisation

(2) physical ailment

(3) Mental health issue

(4) Emotonal issue

e i TaE ° et uiaaa’ Feitea | 1 e Fefm e g7
(1) =7 HHAETH

(2) IR B0

(3) wEAlEE are #1 J9E
(4) HEMTR qEE
Options:-

«1, Option ID :- 293,

« 2, Option ID :- 294,

= 3, Option ID :- 295,

« 4, Option ID :- 296,

Answer Given:- 3, Option ID : -295

Question ID:- 75

Which type of leadership is suited to teachers improvement ?
(1) Instructional leadership
(2) Administrative leadership
(3) Bureaucratic leadership
(4) Management leadership
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sTE H guwEer- o fo Fifea § 4 o gen @ 9w svas B2
(1) SR T

(2) wImEfTE TgE
(3) e A9
(4) W g
Options:-

«1, Option ID :- 297,

» 2, Option ID :- 298,

= 3, Option ID :- 299,

= 4, Option ID :- 300,

Answer Given:- 1, Option ID ; -297
Question ID:- 76

The quality of great school leader should be :
(1) Integrity

(2) Honesty

(3) Critical thinking

(4) Punctuality

HEF e A | i § § w5 = A e ?

(1) Hefs

(2) sEERH

(3) HETETEEE e

(4) HHAR=
Options:-

=1, Option ID :- 301,
= 2, Option ID :- 302,
= 3, Option ID :- 303,

= 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77

What should be the important principle of school organisation ?
(1) Demaocratic principle

(2) Principle of fexibility

(3) Child centered principle

(4) Teacher centered principle
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(1)
(2)
(3)
(4)

o™ §e= =1 Aeerg faaia @ 2 =i ?
(1) Sl fEalE

(2) o w5 i

(3) TR Hiwd fasi

(4) ASAYF g HGid

Options:-

«1, Option ID :- 305,

« 2, Option ID :- 306,

« 3, Option ID :- 307,

» 4, Option ID :- 308,

Answer Given:- 3, Option ID : -307
Question ID:- 78

Grganiﬁatifm af social service ]Eﬂg-ue h}’ school hal]::ﬁ i

Bringing community closer to school
Augmentation of school resources
Maintaining cordial relationship with society
Children to develop social values

el B ETE HiEE w6 s e eE % wenaey Fenfed § | e werm foed 87

(1) GwEm i faem % it sifies Fey w
(2) Tormem & wumEl 1 gada

(3) Qs H Hreyy gy i v o

(4) dreeRl | wifees Yo fassfad e
Options:-

«1, Option ID :- 309,
= 2, Option ID :- 310,
« 3, Option ID :- 311,
« 4, Option ID :- 312,
Answer Given:- 3, Option ID : -311

Question ID:- 79
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Which committee/commission recommended universalisation of free education for age group
b-14 vears ?

(1) Kothari commission

(2) Sadler conunittee

(3) Sargent committee

(4) Hartog committee

Frerifea § 9 faem gfafaemdam 3 6 8 14 54 79 & "l & o Foyes e & gefsindiemo = i
1 i 2

(1) TRTISET A=

(2) e HEE

(3) @iz wiEf

(4) e afEE
Options:-

«1, Option ID :- 313,

« 2, Option ID :- 314,

= 3, Option ID :- 315,

= 4, Option ID :- 316,

Answer Given:- 1, Option ID : -313
Question ID:- 80

The revised pattern of school education is :
(1) 8+2+2+3

(2) 543+3+4

(3)  1042+3

(4) 5454342

el TR = ety wiaey (1) &
(1) 8+2+2+43

(2)  5+3+3+4

(3)  10+2+3

(4) 5+5+3+2

Options:-

«1, Option ID :- 317,
= 2, Option ID :- 318,
« 3, Option ID :- 319,
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« 4, Option ID :- 320,
Answer Given:- 3, Option ID : -319

Subject : PHY_Q81-Q180_PGTPHY
Question ID:- 81

If energy (E), velocity (v) and force (F) are taken as fundamental quantities then the dimensions of

mass 1s ;

() [Fv7
(2 [Ev']
(3 [Ev—7]
(4) [Ev?]

AfG F9 (E), 0 (v) 79 791 (F) % 9l H15eh {6 54, 79 559911 1 99 ¢
(1) [Fv?

(2) [Fv)
(3) [Ev77]
4) [Ev
Options:-

=1, Option ID :- 321,
= 2, Option ID :- 322,
= 3, Option ID :- 323,

» 4, Option ID :- 324,
Answer Given:- 2, Option ID : -322

Question ID:- 82

The number of signiﬁn:a:nt figures in 6.00023 kg is :

(1) 3
(2) 5
(3 6
(4) 4




T3, 280 AM Response Sheet

6.00023 kg H W #iF F dE@N T

(y B
(2) 5
(3) 6
(4) 4
Options:-

«1, Option ID :- 325,
= 2, Option ID :- 326,
= 3, Option ID :- 327,

= 4, Option ID :- 328,
Answer Given:- 3, Option ID ; -327

Question ID:- 83
A viscous liquid of density pis llowing in a tube of radius r with a speed v. The Reynold's number
R is
R KX
prv
k is a dimensionless constant, X s :
(1) Viscosity
(2) Surface lension
(3) Acceleration due to gravity
(4) Pressure

T p T v 24 TRt e B F afesm S am v O vafem @ @ ¥ s WEn R, ®

= KX
pryv
T k U famde Fraais 21 X B
(1) vErE
(2) T= T
(3) TEETE =
(4) TH
Options:-

«1, Option ID :- 329,
= 2, Option ID :- 230,
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= 3, Option ID :- 331,

= 4, Option ID :- 332,
Answer Given:- 1, Option ID ; -329

Question ID:- 84

A pomt object is moving with uniform speed v in a circle of radius R. Let n be the frequency of its

motion. The acceleration of the object is :

(1) 7n?R
(2) 2wn?R
(3) 4v"n°R
v )
—| R
W (=

F1E fagfera fave e R & fofi 99 o v 918 v § ofiars 81 3fs st vl &l st n &1, @159
fque & = E

(1) =2n?R
(2) 2wn’R
(3) 4R
o (=)
n
Options:-

«1, Option ID :- 333,
= 2, Option ID :- 334,
« 3, Option ID :- 335,
» 4, Option ID :- 336,
Answer Given:- 3, Option ID ; -335

Question ID:- 85
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The position x (in meter) of four objects A, B, C and D are given by following equations where time
t is in second :

(A) x=-50+20¢

(B) x=-5.0+20t

(C) x=-20¢

(D) x=2.0t+40¢2

Which of them is moving with a uniform speed ?

(1 (A)
(2) (®)
3 ©
4 (D)

= v A, B, € 2 D =1 feafa x (wiex #) <9 fau o s gm a2 &1 =8 ¢ fave | 8
(A) x=-50+20¢

(B) x=-5.0+420t¢

(C) x=-2018

(D) x=2.0 t+4.0 £

T T FA o fIvE v ane g 3 e 2

(1) (A)
(2) (B)
@ ©
(4) (D)
Options:-

«1, Option ID :- 337,
« 2, Option ID :- 338,
= 3, Option ID :- 339,
« 4, Option ID :- 340,
Answer Given:- 2, Option ID : -338

Question ID:- 86
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The velocity v(in m/s) of an object changes with time t {in second) as
v=>5.0+05 t*

The average acceleration of the object for the duration t=1.0s to t=4.0 s is:

(1) 15 m/s*

(2) 25 m/s?

(3) 3.0 m/s%

(4) 3.5 m/s”

ot fave &1 3 v (my/s 7)) T99 + (FFve #) & Wy e feu oem wfeffm S w e
v=3.0+05 t*

g S0 t=1.0 s ¥ t=4.0 s H 39 fqvs 1 ida = §

(1) 15 m/s*

(2) 25 m/s?

(3 3.0 m/s?

(4) 35 m/s”

Options:-

=1, Option ID :- 341,

= 2, Option ID :- 342,

= 3, Option ID :- 343,

» 4, Option ID :- 344,
Answer Given:- 3, Option ID : -343

Question ID:- 87
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— —5
Consider two vectors A and B as given below

= F M
A=3]i+ |
—3 M i
B=1+3j

, M
where | and j are unit vectors along x-axis and y-axis respectively,

— —
The angle between vectors A and B, when their tails coincide is :

o e (L)
5
.y (B
{2] COs '\5]
1 (4

9 few o S Wizwii A i B W R -

1}
-

Ay A
=3i +j

=% Fa) N
B=i+3j

e Tafﬁ ?m -3 Bﬁ?y—-ﬂﬂ%ﬂﬂﬁmmmﬁl

A 3l B W o g wm, e e 15 Wed § g

(1) cos ! ;-—1]
L5
= 3

@ =)
Ly (4

(3) cos 5]

o (3
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Options:-

«1, Option ID :- 345,
« 2, Option ID :- 346,
« 3, Option ID :- 347,

« 4, Option ID :- 348,
Answer Given:- 3, Option ID : -347

Question ID:- 88

-
A small ball is projected from (0 m, 0 'm) in x-y plane at t=0s. Its velocity v (inm/s) att=2.0s1s

¥ o A A A :
v =407 +10j. Here i and j are unit vectors along x-axis and y-axis respectively. The time of

flight of the ball is (take g =10 m/s%).

(1) 3.0s
(3) 455
(3) 60s
() 753

et @it Tig =l vy 70 H HEE t=0s T (0 m, 0 m) ¥ w47@ & 720 & 399 999 t=20s W 99

i

vi(m/s T UERE ¥ =407 + 10 T 0 G | wE: -0 S g3 F owpfen v g §)
24 g #1 3g7 F4 ¢ ¢ (g=10 m/s® FifaQ)

(1) 308
(2) 4553
(3) 6.0s
(4 7.5

Options:-

=1, Option ID - 349,
« 2, Option ID :- 350,
= 3, Option ID :- 351,
= 4, Option ID :- 352,
Answer Given:- 3, Option ID ; -351

Question ID:- 89
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Rashmi is cycling on a level circular road of radius 12.5 m. The coefficient of static friction between
the tyres and the road is 0.2. The maximum speed with which she can cycle without slipping is
(take g=10 m/s?) :

(n 1.0m/s
(2) 30 m/s
(3) 5.0 m/s
(4 7.0 m/s

W 125 m 550 % v Toae 990 OF W ARt 90 W 8 9eE #) 2 & 4 s wd o
0.2 ¥1 57 wiusan =i Tawd == fam frger wefEa gon 56 & #0 2 © (g=10 m/s? #ifem)

() 1.0m/s

(2)  3.0m/s

(3) 5.0 m/s

(4) 7.0m/s

Options:-

«1, Option ID :- 353,
= 2, Option ID :- 354,
« 3, Option ID :- 355;

« 4, Option ID :- 356,
Answer Given:- 2, Option ID : -354

Question ID:- 90

A boy (mass 55 kg) stands on a weighing scale in a Lift which is moving downwards with a uniform
acceleration of 4 m/s®. The reading on the weighing scale will be (fake g=10 m/s7) :

(1) 165 kg
(2) kg
(3) 385 kg

4) 77 kg
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TIE FEH (M 55 kg) 4 m/s? F UHTAFA &0 A9 &1 77 7l e e 8 de-ad woam
- Al = IESTF © o g=10 m/s? #ife)

(1) 165 kg
(2) 33kg
(3) 385 kg
(4) 77kg
Options:-

«1, Option ID - 357,
« 2, Option ID :- 358,
« 3, Option ID :- 359,

=« 4, Option ID :- 360,
Answer Given:- 2, Option ID ; -358

Question ID:- 91
-3 )
Two forces B and F , given by
-3 A —3 ~
F = (20N)i ad F) = (15N)j

s )
act simultaneously on an object of mass 10 kg. Here ¢ and jare unit vectors along x-axis and

y-axis respectively. The acceleration of the object has a magnitude and it makes an
angle of with the y-axis.
F 3‘\-

] -1| =
(1) 2.5 m/s% tan 1)

(2) 5.0 m/s% tan~ !

<
(3 25m/s tan ! 3

5 2 4 e
(4) 5.0 m/ss tan JJ
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10 kg ZM % Tl v W uwEg #0E € 46 F, #E, 56 TR E-
F = 20N)i ¥RE =(15N);

Hﬁ?ﬁlﬂ FEI: v-H AW y-3781 o Aqiew Ui Afew €1 fuvE & = afiEm SR @ ge -

I I T I BE FE: E

(1) 25m/s% ta 3 3]
2.2 m/s5, @n 1,

FP“I
2 2 tan—1|~
(2) 5.0 m/s= tan )

4
(3) 25m/s% tan~!| 2

(4 S50m/sd tan~1| 3

Options:-

«1, Option ID :- 361,
« 2, Option ID :- 362,
« 3, Option ID :- 363,

= 4, Option ID :- 364,
Answer Given:- 3, Option ID : -363

Question ID:- 92

A ball of mass 0.30 kg strikes a rigid wall with a speed of 6.0 m/s and is reflected with the same
speed, as shown in the figure. The magnitude of impulse imparted to the ball by the wall is :

(1 0
2) 0.9 Ns
(3) 18Ns

(4) 3.6 Ns
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0,30 kg ZoAHE #i FE 78 6.0 m/s F1 961 F g H gwiu 37an et g dan & zwud & st a9
T grEfea 8 S # | S g i %1 ver few am snEe w6 g §

(1) 0

(2) 09 Ns
(3) L1LBNs
(4) 3.6 Ns
Options:-

«1, Option ID :~ 365,
« 2, Option ID :- 366,
= 3, Option ID :- 367,

= 4, Option ID :- 368,
Answer Given:- 4, Option ID : -368

Question ID:- 93

Four boxes A(5.0 kg), B(3.0 kg), C(2.0 kg) and D{1.0 kg) lie on a smooth horizontal surface and are

connected by light strings, as shown in figure. A force of 44 N is applied horizontally on Box D as
shown,

T T T —

A —I9 | —cl——n >

L

44 N

T,,T, and T, are tensions as marked. The ratio (-?-]15 :
g

1
(1) 5
2
@ 3
3
® 3
i |
4 3
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SiE H g9 SER JH A A (5.0 kg), B (3.0 kg), C(2.0kg) 3R D (1.0 kg) %1 U= gHL 3 gowh! S|
g1 SirgeRt Tt aifas Jvorfed U w2 o 7§ 99 AR W D 9T Afae: 44 N g9 St

T ¥ AR B R T, T, #R T, SR A e E ) e [%J B

3
Ty Ty Ty
Al B [ D »44 N
R
1 1
(1 3
(2 2
Dz
4 3
(3 3
(4 2
O
Options:-

«1, Option ID :- 369,
« 2, Option ID :- 370,
= 3, Option ID :- 371,

= 4, Option ID :- 372,
Answer Given:- 4, Option ID : -372

Question ID:- 94

A box of mass 0.80 kg is pressed agamst a wall by a force of 20 N, as shown in figure, The coefficient
of static friciion between the wall and the box is 0.5, The magnitude of net force exerted by the
wall on the box is close to (lake g =10 m/s?) :

Y
_3.. Lbl’
(1) 80N
(2) 120N
(3) 200N

(4 215N
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FE H S ER 0.80 kg Z99F & el e =1 20 N & 5/ 16 1 @i 6 79 8 1S9 3
a1 & dra wifgs adw quiE 0.5 §) <ER R se 9 A we e 2 ufmm § o )
(g=10 m/s> Tfem)

w;% L.

() 80N
() 120N
(3) 200N
(4) 215N
Options:-

=1, Option ID :- 373,
= 2, Option ID :- 374,
« 3, Option ID :- 375,
» 4, Option ID :- 376,
Answer Given:- 3, Option ID : -375

Question ID:- 95

A boy lifts a ball of 250 g vertically by a distance of 1.5 m. What is the amount of work done by the
boy ? (Take g=10 m/s%)

(1) Zero
(2) +3.75Nm
(3) 0.38 Nm

(4) —-375Nm

ek TEeht Topdl 250 ¢ 1 718 1 1.5 m I I3 T or2F 50 A i # 8 ? (2 =10 m/s2 ©)

(1) A

(2) 4375 Nm
(3) 038 Nm
(4) —3.75 Nm

Options;-
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«1, Option ID :- 377,
= 2, Option ID :- 378,
= 3, Option ID :- 379,

« 4, Option ID :- 380,
Answer Given:- 2, Option ID : -378

Question ID:- 96

The figures below show the positions of pointers attached with the identical springs loaded with
different masses :

o — |8
— |0
40icm % i
» 60/cm 10 kg
20 kg
kg
What is the value of x 7 (g=10 m/s*)
(1) 5.0kg
(2) 6.7kg
(3) 8.0kg

(4) 150 kg
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=1 fed ) e 4 ot e e Fapil, < o fafm geamri & wifta B, 9 92 Pl =) Teaferdi =01 2ot B

— 10 — |0
— [0
4{llem = G i
» 60lcm 10 kg
kg
20
kg
xHHA PNEM? (g =10m/s2)
(1) 50kg
(2) 6.7kg
(3) 80kg
(4) 150 kg
Options:-

«1, Option ID :- 381,
« 2, Option ID :- 382,
= 3, Option ID :- 383,
« 4, Option ID :- 384,
Answer Given:- 1, Option ID : -3B1

Question ID:- 97

A persan applies a force to move a 20 g object in a vertical plane from position A to position B
along a circular track of radius 30 m, as shown. What is the amount of work done by the person ?

(take g=10 m/5%)

B
Object
A (20 g)
(1) 10 Nm
(2) 20 Nm
(3) 50 Nm

(4) 100 Nm
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29 SR, TR 20 ¢ 1 35 W U 50 m T 99 g % afow R aain 9w 6 vl w0 E
fom v =1 vk 9w wa 81 =t g e T FE R R 2 (g=10 m/st ®)

B
Object

A (20 g)
(1) 10 Nm
(2) 20Nm
(3) 50 Nm
(4) 100 Nm
Options:-

=1, Option ID :- 385,
= 2, Option ID :- 386,
« 3, Option ID :- 387,

« 4, Option ID :- 388,
Answer Given:- 3, Option ID : -387

Question ID:- 98

-3 ; A L
A particle is moving in x-y plane under a variable force F = - 7 (Sy? + ?j]N . Here | and ?are

unit vectors along x and y axes respectively. The particle is first taken from the origin along positive
x-axis to the point (5, 0) m and then parallel to the y-axis to the peint (5, 5) m. What is total waork

done by the force ?
(1) +1750 Nm
(2)  —1000 Nm
(3) +770 Nm
(4) =770 Nm
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forelt e ot F = — 7 (3};? -I-'?J_;']N F WA T F0 -y T T A T@E | T i '-‘lff{; HH:
X~ y- 34l F s7fey gad afew 81 58 #0 ) vee v-ow W gE-fig A &g (5, 0) m 7 3T aeavaE
y-31% % THiH &g (5, 5) m @ @1 W1 §1 9 G fRA T el wE a2 ?

(1) +1750 Nm

(2)  —1000 Nm

(3)  +770 Nm

(4) —770 Nm

Options:-

s1, Option ID :- 389,

« 2, Option 1D :- 390,

« 3, Option ID :- 391,

= 4, Option ID :- 392,
Answer Given:- 3, Option ID : -391

Question ID:- 99

A motor delivers a minimum power of 28 kW to a lift moving upwards with a uniform speed of
2.0 m/s., The [rictional force opposing the motion is 2000 N. If the mass of empty lift cabin is
800 kg, then what is the amount of load that this Iift can carry upwards ?

(Acceleration due to gravity =10 m/s?),

(1) 1600 kg
(2) 800 kg
(3) 400 kg
(4) 200 kg

FHE T S 2.0 m/s T UF F9FE I | 9 FE arel B o #ous g 28 kw F 2gEEs v 1eE
Il B fa % faws =i =5 2000 N # 1 afe @l o # 2=2mE 800 kg # Al 7 faw FRa ar e
HT 2 W HEA 8?2 ([EE =0 =10 m/s?)

(1) 1600 kg
(2) 800 kg
{f’-} 400 kg
(4) 200 kg
Options:-

«1, Option ID :- 393,
= 2, Option ID :- 394,
= 3; Option ID :- 395,
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« 4, Option ID :- 396,
Answer Given:- 4, Option ID : -396

Question ID:- 100

A ball of mass 200 g is at rest at t=0. An external force F varying with time as shown in Fig is
applied on ball. The speeds of ball at (i) t=0.2 s, (ii) 0.4 s.and (iii) 0.6 s are (i) v, (ii) v, and (iii) v4

Va Vi
respectively. ; and V_z are :

v L4 =
{lj _E=1;_3..=ﬂ3

¥ Vo

Vo V3 ,_
{2} V] i

Vi Vg

=D o=
[ o P

1 2

2 213 o9

@ 5 T
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200 g ZFTH W g t=0 W fameen ¥ # 1 e w fom ¥ <vi STER uF @ Ae Foeifia e

S E (i) t=028 T, (i) t=04 s W T t=0.65 T g T = HA: (i) v, (ii) vo T (iii)vy T :—:

W E -0
(M oy Tl 702
v V3 =
2 =25 =05
B 5
vz V3
(3) ; va
Va2 v
# 3 va
Options:-

«1, Option ID - 397,
- 2, Option ID :- 398,
= 3, Option ID :- 399,
= 4, Option ID :- 400,
Answer Given:- 1, Option ID ; -297

Question ID:- 101
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The given tigure shows a solid cylinder of radius 0.8 m. The cylinder is rotating about its axis at
10 rad/s. What is the speed of point P, located midway on line OA ?

A

(1) 4 rad/s
(2) 4m/s
(3) &Hm/s
(4) 246 m/s

fed 3 Tom H uw 0.8 m e e w2 fafesr 91 s &) fafeose s @ & o
10 rad/s § 99 2 81 € | 161 OA % 79 § syafeem fag P+ =56 # & ?

A
(1) 4rad/s
(2) 4m/s
(3) 8m/s
(4) 246 m/s

Options:-

«1, Option ID :- 401,
= 2, Option ID :- 402,
« 3, Option ID :- 403,

« 4, Option ID :- 404,
Answer Given:- 1, Option ID : -401

Question ID:- 102
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We are given two circular discs that have same mass and same thickness but could be made of
different materials, In order to provide rotational motion, the same amount of work is done on
both the discs. It is seen that one of them moves slowly as compared to the other. Which one of the

following statements is true in this context ?

(1) The one that moves faster is made from more dense material.
(2) The one that moves slower is made from more dense material.
(3) The disc that moves faster has more moment of inertia.

(4) Both the discs have same moment of inertia.

T THIA BoHH a9 HHE HI2E Jrell 1 g fows 51w € S e fafee vl | a1 8w 81 3w
nfq F &, o A feel W wmm o e s 21 98 o s @ T o 4w g ) e |1 vl
Ft &1 39 v § Frefofag sl d S SR a R aE £ 7

(1) s fa F T s o wwe 99 Ted § 91 8

(2) it fa F2 Twi fomk s e 3w wed 9 = 2

(3) S =er anedl feer w sige el S 2

(4) EFI fewhi % Tee 0l JHE

Options:-

«1, Option ID :- 405,
= 2, Option ID :- 406,
= 3, Option ID :- 407,

» 4, Option ID :- 408,
Answer Given:- 2, Option ID : -406

Question ID:- 103

A convex mirror of power 5D has an object of length 2 cm placed perpendicular to principal axis
at a distance of 20 cm from the mirror, If d is the distance between object and image formed, and
L is the length of image formed, then :

(1) d=10cm; L=05cm
(2) d=10¢m; L=1cm
(3) d=3cm;L=05cm
(4) d=30cm;L=1cm
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5D ¥ifth & ITE TYV1 % HHA 2 cm Fars %1 U o 200 # 20 em 1 g W I @& 99 % e 1)
21 =g d T i =+ wfafas & == * g a9 L yifes # ws @, @

() d=10cm; L=05cm

(2) d=10em;L=1cm

(3) d=30cm;L=05ecm

(4) d=30em;L=1cm

Options:=

«1, Option ID - 409,

= 2, Option ID :- 410,

= 3, Option ID :- 411,

= 4, Option ID :- 412,
Answer Given:- 3, Option ID ; -411

Question ID:- 104

Three objects, two with mass x and one with mass y, can bearranged in any of the four configurations
shown below :

X
1 x
LY
| N 120°
T ——pl—— T ——> + T >4 r—s N
3 v T ¥ X ¥ Ve 13 Yer 3
(a) (b) {c) (d)

Which one of the following statements correctly gives the rank of configuration according to the
magnitude of the gravitational force on y, greatest to least 7

(1) () (B), (c). (d)
(20 (d), (e} (b). (@)
(3 (c), (b). (d), (a)
(4 (b) (@), (d), ()
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i fig, o € % 2o o a9 0% &1 ZeamE g € A1 29 Tl 9 faei | safe B oW e B

—— T —pe—T—» -q—r—H—r—r- J_‘ ﬁ_.

x Xy X Yer— Y1

(a) (b) (c) (d)
i T TEEE AW uf % sgEr Frafaten s § 8 a9 W o =i e @, sy | e,
e gHEE 29 @2
(1) (a) (B), (¢}, (d)
(20 (d), (c), (b), (@)
(3 (e) (b)) (d), (@)
(4)  (b). (a), (d), (c)

LY ]

Options:-

»1, Option ID :- 413,
» 2, Option ID :- 414,
= 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 4, Option ID : -416

Question ID:- 105

An astronaut does some repair work outside of his space-station. He unknowingly leaves one of
his tools outside the space-ship. Assuming the orbit of space-ship a circular one, the tool will :

(1)  Fall back into the space ship.

(2) Fly off tangentially into space.

(3) Continue orbiting but at a reduced speed.

(4) Continue orbiting with the space-ship.

uF iafe Al w1 siafe e F e F 9Ed 1 FE T AT H 98 19 Usk U safia
A % A B aal | SiAfoR- 4T 1 A 1 Fed W g, S

(1) efafee—am § aifag e s

(2) SiAfte | EEICEE FE S

(3) H A F IR e

(4)  HAafie-=m % wie yiee e @

Options:-
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«1, Option ID :- 417,
= 2, Option ID :- 418,
= 3, Option ID :- 419,

« 4, Option ID :- 420,
Answer Given:- 2, Option ID : -418

Question ID:- 106

A satellite, orbiting at an altitude of one earth's radius above the surface of the earth. How much
energy (E) is required to fransfer the satellite to another orbit which is at an altitude of three earth's
radius above the surface of the earth ? Also, what are the changes in the satellite's potential energy
(AP) and kinetic energy (AK) 7 (Mass of satellite is 400 kg) acceleration due to gravity on the

surface of the earth=98 m/ s, radius of earth= 6400 km).
(1) E=3.1x10T; AP=0; AK = 3.1 x 1077

(2) E=31x109]; AP=62%10; AK =~ —3.1%10%]

(3) E=31x10°); AP=623%10%; AK == 31 x107]

(4) E=31x10°T; AP = +31%10°; AK = 0

U 39UE el F1 Haw | yeAl F B & w9 g v I B 3W SvE 1 R gud e S
fof gedll %1 Hag 9§ g & B & 99 pil SeE w8 F wEria w6 F fag e s (| @
ey w7 39UE i fegfas S o afteee (AP) a9 s e | 9fiEdT (AK) #E? (IR #
S = 400 kg; 92 1 WiE G YRS E0=9.8 m/s” 71 G FI B =6400 km)

(1) E=31x107]; AP=0; AK =31 x107]

(2) E=>31x107); AP=62X10%; AK 2= —3.1%x107 ]

(3) E=3.1x107]; AP=62x10%; AK == 3.1 x 107

(4) E=31x10°]; AP =~ +31x10°%; AK = ()

Options:-

»1, Option ID :- 421,
= 2, Option ID :- 4232,
= 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 2, Option ID : -422

Question ID:- 107
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Two cylindrical copper rods A and B having diameters (.1 cm and 0.05 em respectively are stretched
within proportional elastic limits by a 5% 10° N force. The length of each wire is 2 m. If the stretch
in thinner wire is 2cm, the stretch in thicker wire would be : (The Young's modulus of copper is
1.1x 1081 N/m?)

(1) 2.0cm

() 10em
(3 05cm
(4) 0.25 em

a’rﬂﬂmaﬁaﬁaﬁ A #7 B 57 =/ 99 0.1 cm 37 0.05 cm & 991 TS9F &1 @196E 2 m § H
5% 10% N ¥ T9F J61 gR1 YHHIas Toe J6 % Wie-ai= T 2| 4fE 7oe R H f@gm 2em &
Hre ar d fa=e # -

(dfa = = & i =1.1x 101 N/m? )

(1) 2.0em

(2) 1.0em

(3 05cm
(4) 0.25 cm
Options:-

«1, Option ID :- 425,
= 2, Option ID :- 426,
= 3, Option ID :- 427,

= 4, Option ID :- 428,
Answer Given:- 3, Option ID : -427

Question ID:- 108
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List- 1

(Physical Phenomena)
(A) Blackbody Radiation
(B) Viscosity of Fluids
(C) Pressure in a Fluid
(D) Speed of Efflux

(A) (B) (€ (D)
M 0 6 @
@ @ O © @
@ @ @ @ 6
) ) ) (@ (P

(A) (B) (©) (D)
M @ 6 @ @
@ @ @ 6 P
@ @ @ @ 6
@ & O @ @
Options:-
«1, Option ID :- 429,
« 2, Option ID :- 430,

= 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 4, Option ID : -432

Question ID:- 109

Response Sheet

Match List - I with List - 11 and find the correct answer :

List - I
(Associated law)
(p) Torricelli's law
(q) Pascal's law
{r) Stoke's law

(s) Wein's displacement law

Tt - 1 %1 gt - 11 e gfem o1 |9 3w 9f

T - 1

=g Fam)
(p) SMftme-fam
(q) OEERE-TTEE
(r) - e

(8) &9 - T fay
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Mean Kinetic energy per mole of a gas per degree of freedom is :

3
(1) = kT
) =kt
@ 3

3
(3 = RT

~RT
@ 3

3

(1) Y kT
1

(2) E kT
3,

(3) 5 RT
|

(4 5 BT

Options:-

=1, Option ID :- 433,
= 2, Option ID :- 434,
« 3, Option ID :- 435,
» 4, Option ID :- 436,
Answer Given:- 2, Option ID ; -434

Question ID:- 110
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Which of the following graph can possibly represent the variation of surface tension (5.T) of water
with temperature over small temperature ranges ?

8.1
t
(1)
Temp —
st
4
(2)
Temp —
S.T
N
(3)
Temp —

S.T
(4 T /

Temp —
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et & 9 % am, Fre a4 3 Tore o % g e (S.T.) AW F W aftads vl @ w2

5T
1
(1)
Temp —
st
|
(2)
Temp —
58T
AN
(3)
Temp —
ST
i
(4)
Temp —
Options:-

«1, Option ID :- 437,
« 2, Option ID :- 438,
= 3; Option ID :- 439,

« 4, Option ID :- 440,
Answer Given:- 3, Option ID : -439

Question ID:- 111

Let a person whose surface area is about 2.0 m? is sitting in a room at temperature 17°C. The skin
temperature of person's body is 27°C and the internal temperature is 37°C, The Stefan's Constant
is 5.67 %108 Wm~2 K1, Considering the person's body a perfect radiator, the energy emitted

per unit time by the person's body 15 approximately:

(1) 190 W
(2 110W
(3) 90w

4 70W
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s =afvs TS 9 &we o9 2.0 m? €, 17°C 9HH T U e 92 ¥ | safs #) e w aees
27°C & A1 ST aqaH 37°C €1 e fEeiE 5.67% 10 8 wWm 2K 4 ¥ =afe % ol # srmed
faferss mra g9, =i & iR A 9T o g9a | Iefee S e E

(1) 190 W
(2) 110W
(3) 90WwW
(4 70W
Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
« 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 3, Option ID : -443

Question ID:- 112

The length of a wire is increased by 20% by applying a stress of magnitude 4.0 x 109 N/m® Then
Young's modulus of material of wire is :

(1) LOx10H N/m?

(2) 20x104 N/m?

(3) 1.0x10" N/m?

(4 2.0x10W N/m?

U AT R H, 4.0 % 1010 N /m? 9fimm vl o w 20% = afs @6 T = o g9 w5
WeARERf] ONF T

(1) LOx10M N/m?

(2)  2.0x101 N/m?

(3) 1.0x10" N/m?

(4) 2.0x%x100 N/m?

Options:-

=1, Option ID :- 445,

« 2, Option ID :- 446,

« 3, Option ID ;- 447,

« 4, Option ID :- 448,
Answer Given:- 2, Option ID ; -446

Question ID:- 113
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Match the followings :

List- 1 List - 11
(A) Isothermal process (p) PVY¥=Constant
(B) Adiabatic process {q) PV=~Constant
(€C) Cyclic process (r) AU=0

(A) (B} (©)
1) P @ @
2 @ @ (@
3 @ & (@
4 O @ @
Pt =1 e Fifa

e T
(A)  HHaTd WhH (p) PV =Trrmrs
(B) EET™H WA (q) PV ="FrmiEw
(C) =hid WA () AU=0

(A) (B) (©)

M @ @ (0
@) @ @ ()
3 @ @ @
@ 0 @ o

Options:-

»1, Option ID :- 449,
« 2, Option ID :- 450,
= 3, Option ID :- 451,

= 4, Option ID :- 452,
Answer Given:- 2, Option ID : -450

Question ID:- 114
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3 3
Two vectors P and Q have a maximum and minimum resultant of 10 and 6 units respectively.
—r 3 = _ e T
P’ has a magnitude 25% less than P and Q' has a magnitude 100% more than Q, P'. Q =0,

L ¥

—}r — . -
P 4+ Q = R . The magnitude and direction of R'is:
-3
(1) 2413 units; at an angle of sin™ 1(2/3) with P’
(2) 2413 units; at an angle of cos—1(2/3) with P’
(3) 2413 units; at an angle of tan~1(2/3) with F'

(4) 2413 units; at an angle of cot™1(2/3) with P’

Fwfegi p o Q % fiman siv =R Wi FE: 10 70 6 TFE £ p wufm p o3 ufmm

25% FH A9 Q' 1 URE Q % WAHWI A 100% FFE R p . Q =0, NP +Q =R IR
g &3 fom & .

(1) 2413 TFE; P #sin—'(2/3) F w0 W
(3) 2413 T P’ ¥ cos1(2/3) F For W
(3)  24/i3 T P’ A tan—1(2/3) F w0 W
(4)  2J13 6 P A cot—1(2/3) I W
Options:-

=1, Option ID :- 453,
« 2, Option ID :- 454,
« 3, Option ID :- 455,
« 4, Option ID :- 456,
Answer Given:- 3, Option ID : -455

Question ID:- 115
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O A
IJ ’WW\IWVVVW_}F

» X

A block P of mass 4M is at origin O of X-axis . A string OA =L has a mass M and is attached to
block P as shown in figure. A constant force F is applied parallel to X-axis at free end A of string,
The tension along string varies at a constant rate of +0.5N/m. F is:

() 15N
(2) 20N
(3) 25N
(4) 30N
O A

> X

ZEIHM 4 M %1 U =i P X-314 % gefeig O 9 v B M g L gf oA=L, fae f 2uia e
s P H 81 210 F g W X2 % 9o U FEd 9@ F o feem e &0 26 % sy
98 U FHT gt +05N/m H W El FHRAA

(1) 15N
(2) 20N
(3) 25N
4) 30N
Options:-

«1, Option ID :- 457,
= 2, Option ID :- 458,
» 3, Option ID ;- 459,

« 4, Option ID :- 460,
Answer Given:- 2, Option ID ; -458

Question ID:- 116

[t is observed that when a water surface is brought under a pressure of 10° N/m?, a volume strain
of 5% 109 is produced. The density of water is 10° kg/m®. The speed of longitudinal wave
produced in water is close to

(1) 25610 m/s
(2) 1.9%10° m/s
(3) 14x10*m/s
(4) 330 m/s
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T A S YT T T S % 9 10° N/ m? 91 Sfd A WIEE 5% 10 2 & st fai
I A 81 I WA 10° kg/ m? 81 99 H 599 A9 a9 & () ¢

(1) 256x10° m/s

() L9%10% m/s

(3) 14x103m/s

(4) 330 m/s

Options:=-

«1, Option ID - 461,
« 2, Option ID :- 462,
» 3, Option ID :- 463,

= 4, Option ID :- 464,
Answer Given:- 3, Option ID ; -463

Question ID:- 117

Twa travelling sinusoidal sound waves have same amplitude and same frequency. Thev can
g : 1
produce a fully destructive interference only if :

(1) They travel in the same direction and are in the same phase.
(2) They travel in opposite directions and are in the same phase.
(3) They travel in the opposite direction and are 180" out of phase,

(4) They travel in the same direction and are 180° out of phase.

3 I SEEE A w s st wee #1 3 i i sfe Fae o sem =
Tehel & FEr

(1) ¥ oF Fen § 79 5HA faen ¥ e Fa 2

(2) 8 9 Fen § g faedta feenedi 4 o e #)

(3) A faudia femmsti d w9 Al § o 37 419 180° w1 FHeAr ¥

(4) & waE fewn F wom sl sl 59 A 1800 #1 Fe B

Options:-

«1, Option ID :- 465,

« 2, Option ID :- 466,

« 3, Option ID :- 467,

» 4, Option ID :- 468,

Answer Given:- 2, Option ID : -466

Question ID:- 118
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For a simple harmonic motion of a particle, graph between magnitudes of acceleration {a) and

displacement (x) is :

d
I
(1)
—>x
a
!
(2)
—»x
a
A/
(3)
—rX
a
1 O
(4)

—»
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UE g #Ed i % fau ; m () v farars (o) % ufmm F de e §

a
S
(1)

—*x
I
(2)
—Fx
d
A/
(3)
—>x
d
T
(4) W,
—rx
Options:-

=1, Option ID :- 469,
=« 2, Option ID :- 470,
s« 3, Option ID :- 471,

« 4, Option ID :- 472,
Answer Given:- 4, Option ID : -472

Question ID:- 119

The bob of a pendulum executing simple harmonic motion has speeds equal to 3 em/s and
2 emy/s at distances 4 cm and 6 cm from the mean position, respectively. The time period of this
pendulum is (close o) :

() 42s
(2) 84s
(3) 126

(4) 1628
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e A e R e & e o sgent we fefa 3 4 om 51T 6 om o W S s
3em/s 32 em/s B 50 6T 1 AT F & (Fepeam) ¢

(1) 42s
(2) 84s
(3) 126s
(4) 162s
Options:-

«1, Option ID - 473,
« 2, Option ID :- 474,
« 3, Option ID :- 475,

= 4, Option ID :- 476,
Answer Given:- 2, Option ID ; -474

Question ID:- 120

Which of the following quantity/ies can be determined by the intial displacement and speed of a
particle which is executing simple harmonic motion ?
(A) Amplitude

(B) Phase constant
(C) Angular frequency

(1) (A) enly
(2) (B) only
(3} (A) and (B)
(4) (B) and (C)

TEel s M e TR w0 % e fae i = g e 9w i [(A), (B) (O H "
T/ fufon e = g% 82

(A] HTEH

(B) hen FEa
(C) =mitg sEfa
(1) ae (A)
(2) = (B)

(3) (A) ¥ (B)
(4) (B) # (C)
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Options:-

=1, Option ID :- 477,
« 2, Option ID :- 478,
« 3, Option 1D :- 479,

= 4, Option ID :- 480,
Answer Given:- 1, Option ID : -477

Question ID:- 121

Which one of the following determines the speed of a sound wave?
(1) Iis intensity

(2) lis frequency

(3) Its wave number

(4) The ransmitting medium.

Frefefaa 9 | = @ v ol sl 38 &1 = Fwifa s 22

(1) 5! dEa

(2) TEH g

(3) THHI WI-HE
(4) I T
Options:-

«1, Option ID :- 481,
« 2, Option ID :- 482,
= 3, Option ID :- 483,
« 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

Question ID:= 122
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=1, Option ID :- 485,
« 2, Option ID :- 486,

Response Sheet

Following equaltion is given for a stationary wave
iy ={0.06) sin(2wx) cos(dwt)
(Here all values are written in 5I units and symbols have their usual meanings)

Match the following lists and find the correct answer :

List - 1 List-I1
(Physical quantities) (values)
(A) Amplitude of constituent waves (p) 0.5
(B) Distance between two consecutive nodes (q) 0.03
(C) Frequency of waves (r} 25
(A) (B) (C)
@M @ @ O
@ @ @ (@
@ @ @ ()
4 () (P (@
we AWl i % fe Freaffis gem @
i =(0.06) sin(2mx) cos(5wt)
=&l |it Wil 3 |rae a1 § aen il & S A §)
Hm 1 w11
(siitfrres ifm) (|)
(A) HgZH A1 =1 AW (p) 0.5
(B) @1 shHmTH Fredel & <= gf (q) 0.03
(C) () 25
(A) (B) (©)
1 @ ()
2 @O @ P
@) @ @ @
4 @ (P @
Options:-




T3, 280 AM Response Sheet

= 3, Option ID :- 487,

= 4, Option ID :- 488,
Answer Given:- 3, Option ID ; -487

Question ID:- 123
Two charges A(5.0 puC) and B(10 pClare located at points (0 cm, 0 em) and (-8 cm, —6 cm)

s B
respectively, The force exerted by charge B on charge A is (i and j are unit vectors along r-axis

and y-axis respectively and [ J =9x 107 Nm?/C?);

4 weg
(1) —(27 N}? — (36 N]::E

(2 (27 N)? + (36 Nﬁ

(3 -3 N}? - (27 Nﬁ

(4 (3 Nyi + (27 N}:}

a2 A A(5.0 pO)#R B(10 pC) %89 el (0 cm, 0 em) 47 (—8 em, —6 cm) W fegd 81 2m@y
B BRI ST A W AR a9 & (7 2 ] WO x-@ dR p-wm F oy i wfey & @

|2 =9x10° Nmzfcz}:

4 TEQ

|
(n —(z?N)? - (36 Nﬁ

(2 (27 N)i + (36N)]
1

(3  —@6N)i — (27 N)

@ (36N); + 7N}

Options:-

=1, Option ID :- 489,
= 2, Option ID :- 490,
= 3, Option ID :- 491,

« 4, Option ID :- 492,
Answer Given:- 4, Option ID : -492
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Question ID:- 124

An electric dipole consists of two equal and opposite charges —q and g separated by distance 2a.
The potential due to this dipole at a distance r from its centre, on its axis is proportional to :

(1) r
1
2) ;
1
® =
1
O

%1 faga faya, < wftem 6w ofn faemdr smewi —q 3 g, 59936 &9 2a @1 99=A &, 3 faes =
21 20 fooa % R0 5 FE 4 o ¢ W forega favm Freferfian o feas erfos 82

(1) r
1
(2 3
1
@ =
1
@
Options:-

«1, Option ID :- 493,
= 2, Option ID :- 494,
= 3, Option ID :- 495,
= 4, Option ID :- 496,
Answer Given:- 3, Option ID : -495

Question ID:- 125

Three charges A(9 pC), B(18 pCland C(—27 pClare located at points (0 cm, 0 cm, ) cm)
(0 cm, 2 em, 0 cm}, (0 cm, 4 cmy, () cm) respectively. A sphere of radius 3 cm is drawn with its centre
at (0 cm, 0 cm, 0 em). The electric fAux through this sphere is (g,=9%x10"2 C N m™ % :

(1) 0Vm

(2) 2.0%10°Vm

(3)  3.0%10° Vm

(4) 6.0%10°Vm
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dF #EY A(Y pC) B8 pC) #A C(-27 pC) #wHE: 531 (0 cm, 0 cm, 0 cm)
(0 cm, 2cm, 0 cm) 991 {Hcm,,-lm,l]c:m)mﬁ-“ﬁg'l (Gmﬂmﬂm]ﬁ%ﬁWSmﬁfmﬁ
18 T W= ) g e & e e fagd v ¥ (6 =9x 1072 2 N~ m 2 #ifem)

(1) 0Vm

(2) 20%10°Vm

(3 3.0x10°Vm

(4) 6.0%10°Vm

Options:-

«1, Option ID :- 497,
= 2, Option ID :- 498,
« 3, Option ID :- 499,

= 4, Option ID :- 500,
Answer Given:- 3, Option ID : -499

Question ID:- 126

A 200 pF capacitor is charged to 10 pC. The energy stored in the capacitor is
(1) 0.20]

(2) 025]
(3)  0.40)
(4) 030]

200 pF =nfen % sl Haifia 1 10 wC 9% sAafw e w81 55 guifts § @ &= @

(1) 0.20]
(2) 0.25]
(3) 040]
(4) 0.50]
Options:-

«1, Option ID :- 501,
« 2, Option ID :- 502,
= 3, Option ID :- 503,

« 4, Option ID :- 504,
Answer Given:- 2, Option ID : -502

Question ID:- 127
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Three charges of 8 pC, —1 pC and 10 pC are placed at points A, B and C respectively, as shown
in figure, The potential energy of this system of charges is :

e
(Take ’4 TfEuJ =9x 10° Nm?/C?)

ATBM‘: 3em
4em
------ e 10 uC
4 cm

Be-1uC

(1) 11.7]

(2) 17.1]

(3) 234

(4) 342]

A H T, SFER o fagsi A, B #RC W8 uC, — 1 pC iR 10 wC =Ey figd 81 et & 29 Fam
=1 frfas o= & -

4 TEY

[[ 1 }:mm“wmljczﬁfﬁﬁtj

AgBuC

Jem
‘icm/_
------ -o_ 10 pC

C 18

4 cm
Be-1puC
(1) 11.7]
(2) 171]
(3) 234]
(4 342]

Options:-

«1, Option ID :- 505,
« 2, Option ID :- 506,
= 3, Option ID :- 507,

« 4, Option ID :- 508,
Answer Given:- 4, Option ID : -508
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Question ID:- 128
A parallel plate capacitor of plate area A and plate separator d is filled with three dielectric slabs
of dielectric constants 3 K, K and 2 K respectively, as shown in figure. Their areas and thickness
A (A 2d A

d
are [E, d), [? T] anid (E ;) respectively. C, and C are the capacitances of the capacitor

R
without slabs and with slabs respectively. Then ["C_ﬂ:|15 3

d

N
NN 44

N &31{
)

N7,
%//;K/:zﬁ— 5

T &
0 (¥
@ (oK
o ()
@ (R
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el T afga wafis fomet el =1 aowa A sl uysA d & f ool & &t & e = sia
H ey STET A e T2 e WEEE e 3K, K @R 2K € A vm o ¥ g gl %
dpr i st w5, d ), (5 32| st (5, ) #1 v won 9 et o o et e

Hiftarnd shEe: C, 3K C &1 79 STu é} % -

%/zzfcg%

«B

o (5%
o ()
® (3
@ [(f)
Options:-

«1, Option ID :- 509,
« 2, Option ID :- 510,
= 3, Option ID :- 511,

« 4, Option ID ;- 512,
Answer Given:- 2, Option ID : -510

Question ID:- 129
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Y

1
Three cells E;, E, and Ey, of emfs 9 V, 5 V and 3 V and internal resistances 1 (), 0.5 Q and [E Jﬂ

respectively are connected as shown in figure. The equivalent emf of the combination, between
points A and Cis :

4
0 [a)v
2y 7V
(3 17V
(4 1V

i ¥ E,, E, 3 E, F57H emf @99 9V, 5V 8t 3V @001 siiafes ufais w09 1 0, n.EHeﬁh(%jﬂ
T W1 W 29I SER St R T €1 36 Hhen 6 fagel A $RC F Y 079 emf ©

/\
\/

4
m (5
(2) 7V
(3 17V
(4) 1V
Options:-

«1, Option ID - 513,
« 2, Option ID :- 514,
« 3, Option ID :- 515,
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« 4, Option ID :- 516,
Answer Given:- 3, Option ID : -515

Question ID:- 130

Temperature coefficient of potentiometer wire should be :
(1) IHigh

(2) Low

(3) Negligible

(4) MNormal

ol fgorg ordt AR =1 919 Wi @ SifET
(1) ==

(2)

(3) A

(4) 9w

Options:-

=1, Option ID :- 517,
= 2, Option ID :- 518,
« 3, Option ID :- 519,

L] 4; ﬂpﬂﬂn ID e 520[
Answer Given:- 1, Option ID : -517

Question ID:- 131




T3, 280 AM Response Sheet

Energy bands of three materials are given below. Here V and C represents their valance and
conduction bands respectively :

C
>3eV
<3eV C ,
W ///{//;///// Vi ’//////{é}//// v /////;({////

These materials are respectively :

(1)  Ceonductor, Semiconductor, Insulator
(2) Semiconductor, Conductor, Insulator.
(3) Insulator, Semiconductor, Conductor,
(4) Conductor, Insulator, Semicomductor,

it wel % sl o, 9 Bl 03 R W FETV ir C 0k Huv Hhel wen wen S o gefd ¥

C
o " >3 eV
&/ /{/}///// v W////{i}///// v ’/////;;/{///!
4 TEd HwE: &

(1) TeTeh, AY=EETH, FaOH
(2) SAH=EeE, 9, e
(3) FHAWH, HHEEF, IEE
(4) ATEH, FTAEH, AR

Options:-

«1, Option ID == 521,
« 2, Option ID :- 522,
« 3, Option ID :- 523,

= 4, Option ID :- 524,
Answer Given:- 2, Option ID : -522

Question ID:- 132
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Two statements are given below one is labeled as Assertion (A) and other as Reason (R). Select
the correct answer using the code given below :

Assertion (A) : Potential difference (V) across the terminals of a battery is always less than the
emf (E) of a battery.

Reason (R) : During discharge of a battery potential difference (V) across two terminals of a
battery is V=E—ir, V< E.

(1) (A) and (R) both are correct and (R) is correct explanation of (A).

(2) (A)and (R) both are correct and (R) is not correct explanation of (A).
(3)  (A)is true but (R) is false.

(4)  (A) is false but (R) is true.

At 21 s el v € uw S e (A) a9 L R e (R) Fe T 21 A9 e o e | ot aw
e ;

WA (A) : UF T H TEEER (V) T2 F emf (F) T EHI FH E6 £
T (R) : U 920 F a4 & SRH, 9241 &1 @ (V) V=E—ir, : V<E &
(1) (A) T (R) SHT 977 8 1 (R), (A) 1 Hel = &7 &

(2) (A) @91 (R) SFi @3 & 9401 (R), (A) %I B8 =161 61 =l &

(3) (A) 99 W (R) 9794 &

(4) (A) 59 W (R) AT

Options:-

=1, Option ID :- 525,

« 2, Option ID :- 526,

« 3, Option ID :- 527,

« 4, Option ID :- 528,
Answer Given:- 1, Option ID : -525

Question ID:- 133
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Which one of the following Voltage versus current variation curve could correspond to a GaAs
device ?

I

(1) /

v

2)
v
I

(3) /\

V

|

(4)

v
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9 feit 7 sl # | w5 W uw e Gaas afw % T wEt e - faem & ol wea B

(1) [

>
v
(2)
v
[
(3 /\
v
I
(4)
v
Options:-

=1, Option ID :- 529,
= 2, Option ID :- 530,
=« 3, Option ID :- 531,

« 4, Option ID :- 532,
Answer Given:- 2, Option ID : -530

Question ID:- 134

A silver wire has a resistance of 2.1 2 at 27°C, and a resistance of 2.7 {1 at 100°C. Which one of the
following values approximately gives the temperature coefficient of the resistivity of silver ? (The
physical condition of the wire remains the same throughout).

() 4.0x10-3 K1
2y 17x19—2 K1
(3) 13ax1073K-1
(4) 27x1073K"!




T3, 280 AM Response Sheet

ol Toeg % a1 = 27°C WOy 2.1 Q W E a9 100°C W 2.7 0 8 | Fr=fafes 99 5 3 5[ uF e
3 AiereRaT FI9P TS 5 S aa B (AW R e feafel wEE A ved )

(1) 40%102 K

(2) 1.7x10-2K1

(& 13w K

(4 27x10~3K-?

Options:-

«1, Option ID :- 533,
= 2, Option ID :- 534,
= 3, Option ID :- 535,

« 4, Option ID :- 536;
Answer Given:- 1, Option ID : -533

Question ID:- 135

Which of the following substance has a negative magnetic susceptibility 7
(1) Magnesium

(2) Gold
(3) Chromium
(4) Nickel

Freferaa 8 9 ey wh =t s e JaE g o

(1) e
(2) TieE

(3) #HITHIH
(4) FrFa
Options:-

«1, Option ID :- 537,
= 2, Option ID :- 538,
« 3, Option ID :- 539,

« 4, Option ID :- 540,
Answer Given:- 3, Option ID : -539

Question ID:- 136
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A current of 10 A is maintained in a long straight wire. The magnitude of magnetic field at a
distance of 20 cm from the wire is (=4 %1077 Tm/A) :

(1) 10 uT

(2) 20 pT

(3) 628 uT

(4) 1256 pT

foreft o =en aR H 10 A U Ffi| TR B TH R W 20 cm § W TEEE 4 & A §
(y=4mx10=7 Tm/A)

(1) 10 uT
(2) 20 puT
(3) 62.8 uT

(4) 1256 uT

Options:-

«1, Option ID - 541,
« 2, Option ID :- 542,
« 3, Option ID :- 543,

« 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

Question ID:- 1327

A square coil of side 5 cm, with 50 turns, carries a current of 4.0 A. It is suspended vertically in a
uniform magnetic field of 0.6 T such that the plane of the coil makes an angle of 60° with the field.
The magnitude of torque experienced by the coil is close to :

(1) 0.15 Nm
(2) 0.26 Nm
(3) 0.35 Nm

(4) 052 Nm
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5 cm V1 30T 50 T AR Tt anien et § 4.0 A ¥R vetfed @ W R 39 FveE F 06T F
UG g A 1§ St 39 wehR Fretan e @ s 1 ae geeig a9 H 600
T & FUSE g1 S T S A = st w5 aftE (Feea) §

(1) 015 Nm
(2) 0.26 Nm
(3) 0.35 Nm
(4 0352 Nm
Options:-

«1, Option ID :- 545,
= 2, Option ID :- 546,
= 3, Option ID :- 547,

« 4, Option ID :- 548,
Answer Given:- 4, Option ID : -548

Question ID:- 138

Two long parallel conductors A and B separated by 10¢m, carry currents of 10 A and 4 A respectively
in opposite directions. The force exerted by conductor B on 5em segment of conductor A is
(hp=4wx10"7 Tm/A).

(1) Repulsive with a magnitude of 4.0 pN
(2) Repulsive with a magnitude of 8.0 uN
(3) Attractive with a magnitude of 4.0 uN
(4) Attractive with a magnitude of 8.0 pN

10 em Y4 # &1 F5, HIY wHE el A @R B9 Ty fomsi § e 10 A sfR4 A uRd yEiEd
B W@ 1 S B 5N 6 A F5 om @9 @V T ARG & § ¢ (u, =47 X 1077 Tm/A),

(1) Wi Fome g § 4.0 uN

(2) i fem gftm & 8.0 uN

(3) oTuE faEE uiE € 4.0 pN

(4) R fome a2 8.0 uN

Options:-

«1, Option ID :- 549,
» 2, Option ID :- 550,
= 3, Option ID :- 551,

= 4, Option ID :- 552,
Answer Given:- 3, Option ID : -551
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Question ID:- 139

A 1.2 cm straight segment of a wire (part of a circuit), centered at (0 cm, 00 cm) lies along y-axis. It

carries a current of 6.0 A along y-axis, The magnetic field ata point (12 cm, 0 em) is : ( ?J ? and E
are unit vectors along x-axis, y-axis and z-axis and py=4wx 10" 7 Tm/ A).

A

(1) — (025 uT) k
@ (025 ul)k
(3 — (050 uT)k

4 (050 uT)k

fasll 9 W 1.2 om T 05 HiM @S (YR9Y ) OUE 9ET) S - SR W@ (0 cm, 0 cm) W
g 81 TEE -9 F aRw 6.0 A R warfed B ¥ e o (12 omy 0 cm) W FrEEE A9 7

(i, | @k e a-o, g3 A nE F ol o 2w € A, = 4w x 1077 Tm/A)

A

(1) —(025umk
(2 (0.25 uT) k
(3)  — (050 uT)k

(4 (050 pT]E

Options:-

«1, Option ID :- 553,
« 2, Option ID :- 554,
= 3, Option ID :- 555,

= 4, Option ID :- 556,
Answer Given:- 2, Option ID : -554

Question ID:- 140
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%
The magnetic energy per unit volume in a region with uniform magnetic field B is (. is the
permeability of free space) :

o (e

o (B

Ky
EE
3 ety
(3) L]
47l
4 [—E
{} O

uHEH e 83 B Rl dm F ufi uwim dme g s A § - (u 9% A
JEHITEN & 1)

1|82
o [l
B2
@ o
47).0
o ()
Options:-

«1, Option ID :- 557,
= 2, Option ID :- 558,
=« 3; Option ID :- 559,

= 4, Option ID :- 560,
Answer Given:- 3, Option ID : -559

Question ID:- 141
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A solenoid of length 2.0 m and cross-sectional area 1.0 x 10~ *m? consists of 200 turns per unit
length. The self-inductance of the solenoid is (p;=4w % 107 Tm/A) :

(1) 4wpH
(2) 8wuH

(3) 16 wupH
(4) 32mpH

2.0 m FET 3T 1.0x 10 *m? SFIE e §TF i el Tiiamn § 9 T o i E S 200
§ | =9 uftnferE W § 0 (=47 %10~7 Tm/A)

(1) 4 wuH
(2) 8 wpH
(3) 16 wpH

(4 32wuH

Options:-

«1, Option ID - 561,
« 2, Option ID :- 562,
= 3, Option ID :- 563,

« 4, Option ID :- 564,
Answer Given:- 3, Option ID : -563

Question ID:- 142

A 20 m long metallic rod is rotated with a frequency of 20 rev/s about an axis perpendicular to
the rod passing through its one'end. The other end of the rod is in contact with a circular metallic
ring. A constant and uniform magnetic field of 0.6 T exists in the region parallel to the axis. The

emf induced between the centre and the ring is :

(1) 12V
(2) 127V
(3) 48V

(4) 48wV
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20 m @ - uifes 92 #0150 wF 9 weEed e 9 @ & afe: 20 sfrEsmadsee @
sEMAPHFm e s wH g fm N ada v s s omE § 8 s g 06T =
1 Fm i 318 % guial UHOEE grasig & foame 8 9o S 9o % % F e SR emf
(fereger ameeh ) &

(1) 12V
(2) 127V
(3) 48V
(4) 48 7V
Options:-

«1, Option ID :- 565,
« 2, Option ID :- 566,
« 3, Option ID :- 567,

= 4, Option ID :- 568,
Answer Given:- 2, Option ID ; -566

Question ID:- 143

A sinusoidal voltage of peak value 141 V and frequency 50 Hz is applied to a series LCR circuit
(R=3 1}, }(L:'}’ 0, Xo=3 {1, symbols have their usual meanings). The power dissipated in the
circuit and the power factor are respectively :

(1) 0.6 kW, 0.8

(2) 035 kW, 06

(B 12kW, 06

(4) 12KW, D8

g 50Hz 2R freeam 141 V i fodl srewia dicea 1w 49 LCR wfiwg (R=3 0, X, =70,
s X =3 O 7 Wt 3 sef T §) W e fea e 81 3w wiee ¥ wfe e sl v = ot
9=k shHA: ‘%:

(1) 0.6 kW, 0.8

(2) 0.5 kW, 0.6

(3) L2KW, 0.6

(4) 1.2 kW, 0.8

Options:-

»1, Option ID :- 569,
« 2, Option ID :- 570,
« 3, Option ID :- 571,
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« 4, Option ID :- 572,
Answer Given:- 3, Option ID : -571

Question ID:- 144

Consider the following statements for all virtual images :

(A) These can be seen but cannot be taken on a screen.

(B) These are ephemeral (short-lived).

(C) These are always equal in size as that of the object.

(D) These can be formed either using convex or concave surfaces.
Which of these statements are true in the given context ?

(1)  (A)and (D) enly

(2) (B) and (C) only

(3  (A), (O) and (D)

(4)  AlL (A), (B), (C) and (D)

anurl siafal ¥ daf # freferes S w faEn Fit
(A) ¥ %@ o g § gty Te 9 A for o e

(B) & seyETers & €|

(C) o ATHR Hed & Toisl o §HH 20 €

(D) %R ST A1 SyFAE Helel & 9§ WH w1 S A
fe M yFR G g § S Em A T &2

(1) %ad (A) 3 (D)

(2) A (B) #E (C)

(3)  (A), (©) 3 (D)

(4 = (A), (B), (©) #R (D)

Options:-

«1, Option ID - 573,

« 2, Option ID :- 574,

= 3, Option ID :- 575,

= 4, Option ID :- 576,
Answer Given:- 1, Option ID ; -573

Question ID:- 145
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As shown in the diagram, a hollow lens, made of very thin glass having refractive index equal to
1.5, can be filled with air (refractive index =1.0), water (refractive index =133} or (5, (refractive
index =1.60). Which of the following thoughts may be adopted if the lens is to be used as a divergent
lens for a light beam that is incident parallel to the principal axis of this lens ?

(1) The lens is filled with water and immersed in air.
(2) The lens is filled with CS5, and immersed in air.
(3) The lens is filled with CS, and immersed in water.

(4) The lens is filled with water and immersed in CS,.

foa 8 quid sun ot el &9 o % 15 smadais a@ ggd 8 gae &9 9 90 g, ° a9y
(STl =1.0), S (AEdHH =133 ), 9 CS, (STEAE =1.60) I 1 %A ¥ T oG F A
% o T smafe ot v 99 % fan e ofe 9 s o % w9 e | @ 5 fon fefafan
H 3§ i = faan 39y & g 2

(1) &9 % 5§ 9 a9 91 H gEeE
(2) ©fd®ICS, 8 Wi a9l 95 | gAr
(3) oF R CS, H WEH 79 5 § gEHL
(4) ©H B T H W qU CS,H Zar

Options:-

«1, Option ID :- 577,
= 2, Option ID :- 578,
« 3, Option ID :- 579,

« 4, Option ID :- 580,
Answer Given:- 3, Option ID : -579

Question ID:- 146
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Ly and L, are two plano convex lenses of materials of refractive indices py and p,, respectively.
The radii of curvature of curved surfaces of L, and L, are C and 2C respectively. The two lenses
are put in contact to form a bi-convex lens. The equivalent refractive index (p) of bi-convex lens is:
(1) p=py+2p,

(3 2u=2p;+m

(3 3p=2p+ g

(4) Bp=2pstpy

L, 317 L, & Wae 39 oW € S Ay S0 ., S9EE F uEdt F ¥ L, 3R L, F T a6
) B EY: C 311 2C §1 37 SF vigl % [Gede o8 1 qod 90 © :

(1) p=p+2p,

(2 2p=2p;+p,

(3) Bu=2p;+p

(4) 3p=2p,+py

Options:-

=1, Option ID :- 531,

= 2, Option ID :- 582,

« 3, Option ID :- 583,

« 4, Option ID :- 584,
Answer Given:- 3, Option ID : -583

Question ID:- 147

With regard to Huygen's principle of secondary wavelets, following statements are given:
(A) Itcan be used to find the speed of light in a medium.

(B) It can explain Snell's law.

(C) It can be used to find the subsequent position of a wave front.

Which of these statement is/ are true ?

(1) (A)and (C) only

(2) (B) and (C) only

(3) (A)and (B) only

(4)  All three, {A), (B) and (C)
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T ¥ fadtas domy fagra % del F Frefefas s fa w E

(A) =5 STEF TRl ArE § W I A W A 6 o, T oA g
(B) THH Tt % Frm =1 =men w1 - ww ©

(C) =oR I ol abmy =it sigad) feafa =1 s s /6 €1

HH O T W B2

(1) e (A) 3 (C)

(2) S (B) ¥ (©)

(3) e (A) 3R (B)

(4 @l AT (A), (B) R (©)

Options:-

«1, Option ID :- 585,
= 2, Option ID :- 586,
» 3, Option ID :- 587,

= 4, Option ID :- 588,
Answer Given:- 2, Option ID : -586

Question ID:- 148

Three nucleii X, Y and Z have mass numbers A; A5(>A,) and As(<Ay) respectively. The binding
energies of X, Y and Z are Ey; E, (=FE;) and E; (>E,) respectively. Arrange the nucleii in their
increasing order of stability:

() XY Z
(2) Y, X%Z
3 XZY
4 ZY X

A AT X, Y 3 Z ot gonE S HE: Ay AL(>A,) JRAL(<A) §1 X, Y #R Z &1 b s
FAY: B, E, (=E,) 3E, (>E,) & ==l & wnfam & a@d 80 Al H 91 Wl 34 8 7
1) XYZ

() Y, X Z
B KLY
4 Z Y X
Options:-

«1, Option ID :- 589,
= 2, Option ID :- 590,
= 3; Option ID :- 591,
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« 4, Option ID :- 592,
Answer Given:- 4, Option ID : -592

Question ID:- 149

A point light source O is placed between two plane mirrors at a distance 0.2x from mirror A, as
shown in the figure. We see multiple images of the light source in both mirrors. How far behind
mirror A are the nearest three images of the source in that mirror ?

(1) 02% 1LBx 35x

() 022271 24x
(3) 02x 082x 1421
(4 02x18x22«x

For # 2o orEm & wae 29 & d@E i AF 0.2 x F T W g v wa O v §1 o 9
Zquil H W wiE % e wiafers e T ¥ gdw A F e 919 38 dn H e @ gy d wiatea
g7

0.2 x
(@)
X

(1) 02x, 18%x 3x

(2) 02x22x24x
(B 02x 082 14%
(4 02x 18x22x

Options:-

«1, Option ID :- 593,
= 2, Option ID :- 584,
= 3, Option ID :- 595,

« 4, Option ID :- 596,
Answer Given:- 3, Option ID : -595

Question ID:- 150
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Which one of the following statements is true for a photoelectric effect apparatus ?

(1) The stopping potential for a given photosensitive material is independent of the frequency of
the incident radiation.

(2) The saturation current for a given photosensitive material is independent of the frequency of
the incident radiation.

(3)  On bombarding radiation on a photosensitive material, the photo electric emission process
takes place with a time lag of about 1ms.

(4) The cul off frequency of incident radialion is same for all photosensitive materials.

forft werter Trga Wi Tue o fom fefefas sl A em @ s 9 §7

(1) Tt &3 m wemadt u=red o o Pt fave, amofos Gfen =t emafa w fHd 58 s 8
(2) fadt g2 v wermwEst ver o faa dgn uw sfa fafem = aafe = fask =2

(3) oty SEE vard we fafE & S ot YeRI HRE SeEeE SN Ims H9 3 S B R )
(4)  smofee fafero =1 sins smafa wi v e g2l & fee a2 )

Options:-

=1, Option ID :- 597,
= 2, Option ID :- 598,
= 3, Option ID :- 599,

« 4, Option ID :- 600,
Answer Given:- 1, Option ID ; -597

Question ID:- 151

What is the de Broglie wavelength associated with a ball having kinetic energy equal to 67.5 ] ? The
mass of the ball is 150 g. (Planck's constant =6.63x 10 Js) :

(1) 1.04x10 M m

(2) 3.27x10-3Fm

(3) 147x10 3 m

(4) 466x10"Pm




JTV23, 00 AM Response Sheest

67.5 ] fast ol arell fedt g & wvarg & awel ainaed #nEet 7 i @ 2eEE 150 g ¥
(el TEmi® =663 %10~ [s)

(1) L04x10"3m

(2) 3.27x103m

(3) 147x10~M m

(4) 4.66x10" 2 m

Options:-

«1, Option ID :- 601,

= 2, Option ID ;- 602,

« 3, Option ID :- 603,

« 4, Option ID :- 604,
Answer Given:- 3, Option ID : -603

Question ID:- 152

Three particles: an electron, a proton, and an alpha-particle are accelerated through the same
potential difference say 200V, What is the rank of these particles according to their associated de-
Broglie wavelengths, greatest to least 7

(1) Alpha-particle, electron, proton
(2) Proton, alpha-particle, electron.
(3)  Electron, Proton, alpha-particle,
(4)  All will have same deBroglic wavelengths,

A9 =01 : UE SeEE, Ush WEH 3 U 10650 79 favEial, o S 200 v, 9 @fa FE ma §) 5
FUI T T TG T e, ST I gaE, e Y i #7

(1) SAFEI-, Teie, WeH

(2) HRH, HEHE-H, TR

(3) TOEEH, WM, HeE-F

(4) = 2w giTee-TE

Options:-

«1, Option ID :- 605,

« 2, Option ID :- 606,

« 3, Option ID :- 607,

= 4, Option ID :- 608,

Answer Given:- 3, Option ID ; -607

Question ID:- 153
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Which one of the following statements is NOT true ?

(1) The average binding energy per nucleon in an atomic nucleus is almost the same as the
binding energy in atoms,

(2) The average binding energy per nucleon does not depend on the electric charge.

(3) The range of the nuclear forces is usually few femto meters.

(4) Nuclear forces do not follow inverse-square law.

FefafEr FH A A I TH T = 2 7

(1) e qofveg Tifver o Tt oo & wie =feeram sima dam e e 5ue 2
(2) wfa =afaerim siea @ua St faem sy g fd = ww

(3) iR Sl TR WS e B

(4) e ae =g - 71 e = e T

Options:-

«1, Option ID - 609,
= 2, Option ID :- 610,
« 3, Option ID :- 611,

« 4, Option ID :- 612,
Answer Given:- 1, Option ID : -609

Question ID:- 154

Which of the following factors determine the photocurrent in a photoclectric effect apparatus?
(a)  Intensity of incident light.

(b) Potential difference applied between two electrodes.

(¢) Nature of emitter material.

Using the code given below select the correct answer :

(1) (a) and (b) only

(2) (b)and (c) only

(3) (&) and (c) omly

(4) AllL (@), (b) and (c)
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faradt v Srega W gugam § fFrefefaa swel 8 A #H vmm-am 6 Fyife e §2
(A) SAfaT TR I A
(B) el STl % Uv W fEvEio
(C) Feosis F g =1 yahfa
ar= fod e W wE w8 ve 9
(1) (A) it (B) ot
(2)  (B) 3 (C) Fae
(3) (A) #IR(C) Fae
(4)  (A) (B) & (C) W

Options:-

«1, Option ID - 613,
=« 2, Option ID :- 614,

« 3, Option ID :- 615,

« 4, Option ID :- 616,
Answer Given:- 3, Option ID : -615

Question ID:- 155

Match List - I and List - I1, given below and select the correct answer from the code given below:

List-1 List-11
(Physical Quantity) (Approximate energy values)
(A) X-ray Photon energy (p) 0.02 eV
(B) Binding energy per nucleon (q) 9531 MeV
(C) Thermal energy of air molecules (ry 10 keV
alt normal temperature
(D) Energy equivalent of 1u (s) 8.0 MeV
Code

(A) (B) (C) (D)
(H @ & @ (@
@ 6 P @ (¥
@) (@ @ ) ()
@ @ 6 ® «
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19 A o -1 9 g D iR g A e e A s

-1 get-11
(witferes i) (FFATA: S A7)
(A) X-Teo wER =t (p) 0.02 eV
(B) wi-—gfEasiE @y S (@) 931 MeV
(C) HHF M 9 ag- ST =6 aritd S (r) 10 keV
(D) lu 1 =S-JodiH (s) 8.0 MeV

(A) (B) (€) (D)
M () ) @ (9
2) (8 (P @ ()
@) @ 6 6 @
4) () & (P W

Options:-

«1, Option ID :- 617,
« 2, Option ID :- 618,
= 3, Option ID :- 619,

= 4, Option ID :- 620,
Answer Given:- 4, Option ID : -620

Question ID:- 156

Which of the following radiations has the highest wavelength ?
(1) Microwaves
(2) Ultraviolet rays

) Gamma rays

(3
(4) X-rays

Frefafas fawon § 4 feast gt sifusag §7

(1) HERE

(2) AT
(3) T faR

(4) X-Ferl
Options:-

=1, Option ID :- 621,
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=« 2, Option ID :- 622,
= 3, Option ID :- 623,

= 4, Option ID :- 624,
Answer Given:- 3, Option ID : -623

Question ID:- 157

In the Bohr model of hydrogenic atoms, which of the following statement(s) is/are correct 7

Ay The radius of the orbit of an electron having principal guantum number n is directly
BP pal q !
proportional to n2,

(B) The magnitude of the potential energy of the electron in any orbit is always equal to the
kinetic energy of electron.

(C) The total energy of the electron in the n" orbit is inversely proportional to n.

(1)  (A) only
(2) (C)only
(3) (A)and (B)
(4) (B)and (C)

TEeeit wIaE % A dee 3, Frefeta w8 83 9 9@ 82

(A) wmﬁﬂﬁﬁwmﬁmnﬁ.ﬁmﬁﬁmnlﬁwaﬁ%l
(B) el oft e H 3Em ot Feufosy o1 99t niferst o1 & WRa WHA BT 2
(C) n o =0 1, SeE i el S n o SgEEHTI g g

(1) =haet (A)

(2) A ()

(3) (A) 3 (B)

(4 (B) 1 (C)

Options:-

«1, Option ID :- 625,

« 2, Option ID :- 626,

« 3, Option ID :- 627,

« 4, Option ID :- 628,
Answer Given:- 2, Option ID : -626

Question ID:- 158
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A hydrogen atom is in second excited state. It emits a photon in jumping to a state of energy
12.09 eV, The tme period of electron in orbit in initial and final states are T; and T, respectively

[T%z] >

(1) 3
(2) 9
(3) 18
(4) 27

T TEgeA W fedt safem orewen # ¥ 9w 12,09 eV eI Al s § e % 6w wee
Srfifa e &1 W s sife senei ¥ s 8 o s s T, T, B ()

() 3
2 9
(3) 18
(4 27
Options:-

«1, Option ID :- 629,
= 2, Option ID :- 630,
= 3, Option ID :- 631,

» 4, Option ID :- 632,
Answer Given:- 2, Option ID : -630

Question ID:- 159

On forward biasing a p-n junction diode the :

(1) depletion laver width decreases and the barrier height is reduced.

(2) depletion laver width decreases but the barrier height is enlarged.

(3) depletion layer width increases but the barrier height is enlarged.

(4) depletion layer width decreases but the barrier height remains unchanged.
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faft pon =Y erre #1 smfelmEs amy w6

(1) B W EeE w9 a8 e of it 5 S we e

(2) ETE T SEE w8 W € e Ui ) e A e g
(3) B WH w1 918 9% w6l & 23R dfue w5 S a9 S

(4) B T R HreE g2 it ® wie it w5 S swfEtia wd §)

Options:-

«1, Option ID :- 633,

» 2, Option ID :- 634,

=« 3, Option ID :- 635,

= 4, Option ID :- 636,

Answer Given:- 1, Option ID ; -633

Question ID:- 160

A small block of 8kg is suspended by a rope of length 3m from a ceiling. A force of 60N in the
horizontal direction is applied in the midpomt P of the rope, as shown in figure. The angle 6, the
rope makes with the vertical, in equilibrium is (take g=10 m/s%):

2 8 kg
_-11'?-]

l- 2y

v (3
3

(2) tiirl_]'_E
L4
g

=

o tan | —
{} 2/
Ir’ %

(4) I:'an_]:E
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8 kg SHAM F1 UF Bia1 =A% fHH 3m 1 7= 510 99 @ weeh ¥ v % nea fag pow faa i awid
ST At ferum o e oot 60 N TR e ¥ | T gR Tger i 3 o o # 6 B (g =10 m/s?)

ia?
- 60N

V4 8ke

o
o (3
0wl
Options:-

«1, Option ID :- 637,
= 2, Option ID :- 638,
= 3, Option ID :- 639,

« 4, Option ID :- 640,
Answer Given:- 1, Option ID : =637

Question ID:- 161

A person having mass 60 kg, is moving in uniform circular motion on a horizontal surface which
is frictionless. The radius of circle is 5m. The centripetal force applied is 50 N. What is the amount
of work done by the force when the person moves through one-half of a rotation ?

(1) 0Nm

(2) 250 Nm
(3) 500 Nm
(4) 250 wNm
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60 kg 599 1 UF =i fodi wiorfes & e 7 U 59H ade A s @ 81 99 # B 5 m §)
AR SA9h=era =6 50 N &1 =61 % 50 563 73 e =1 w0 #2026, St safs Ush = 1 e um
T HLGH 67

(1) 0 Nm
(2) 250 Nm
(3) 500 Nm

(4) 250 7Nm

Options:-

«1, Option ID :- 641,
= 2, Option ID :- 642,
= 3, Option ID :- 643,

« 4, Option ID :- 644,
Answer Given:- 4, Option ID : -644

Question ID:- 162

-3 -
Two conservaltive forces Fy and Fp act simultaneously on an object of mass M. The work done by
them over a closed path are given in two cases as follows :

Wi =d(E +5).ds ad wo =45 - £).d5
What is the relationship between W, and W, ?

() WgEW,

(2) W, =W,=0

(3) W;=W,20

@) Wy <W,

Sl ae o (e U e e e e ) e e e s g e e a5 e
& Teafoi ¥ fa=n = 8 2

-

wWi=g(5 «&).as 7w =4(F - 5).45
W, de W, § w1 deau ¥ 2

(H WpeW,

(2) W,;=W,=0

(3) W, =W,#0

@) Wy<W,
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Options:-

=1, Option ID :- 645,

« 2, Option ID :- 646,

= 3, Option ID :- 647,

« 4, Option ID :- 648,
Answer Given:~ 2, Option ID : -646

Question ID:- 163

An object is moving with a constant velocity G Which one of the following statements is correct
for the angular momentum of this object ?

(1) Its value is always zero.

(2) Its value is always non-zero.

(3) Its value is zero only once during its journey.

(4) Its value is zero only if the trajectory of the object passes through the origin.

1 fife ww i a1 v A aEE ¥ 56 fife  woi g8 & fou Freftag e 8 @ 26 o s ad
g7

(1) o5 AW Wed I B €

(2) TEH HE Hed B S AR

(3) THEHI WA IEH A H FHEd UH G & g wm

(4) SHH T Y N Fae 5@ A e m 2w vy ug ge fhg 9 e e

Options:-

»1, Option ID :- 649,
= 2, Option ID :- 650,
= 3, Option ID :- 651,

« 4, Option ID :- 652,
Answer Given:- 2, Option ID : -650

Question ID:- 164




T3, 280 AM Response Sheet

A cord of negligible mass is wound round the rim of a Hywheel .The mass and diameter of the
flywheel are 10 kg and 20 em respectively. Now the cord is pulled down steadily, as shown. What
is the angular acceleration of the flywheel ? (The flywheel may be considered as rigidly mounted
on a horizontal axle and as it bears no friction) :

m=10 kg
F=10N

(1) 552

(2) 1052

(3) 2082

(4 10052

0 g did] Ueh T ol U TfE9TeR 9 (e -wmiel) o TR () woede wn g nifaaeres s
1 EEAHE A9T STH FEY: 10 kg 991 20 om ¥ | a1@ T 29l aEEn S A9 e e s #)
TfearerF 9% o IO =0 = E 2

(T = i1 fome 4= 3181 W 2T & 9 o =5 S 9] & a9 98 #0896 T8 Wl €)

m=10 kg
F=10N
(B Bg2
(2) 10s™?
(3 2082
(4) 100s 2
Options:-

«1, Option ID :- 653,
« 2, Option ID :- 654,
= 3, Option ID :- 655,

« 4, Option ID :- 656,
Answer Given:- 3, Option ID : -655

Question ID:- 165
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Two statements are given below, one is labeled as Assertion (A) and other as Reason (R). Select
the correct answer using the code given below :
Assertion (A) @ If temperature is increased, fundamental frequency of an open pipe will ncrease,

Reason (R) : The fundamental frequency of an open pipe is directly proportional to the speed
of sound wave and with increase in temperature, the speed of sound waves

MCTeAses.
(a) (A)and (R) both are correct and (R) is correct explanation of (A).
(b) (A) and (R) both are correct and (R) is not correct explanation of (A),
(¢)  (A)is true but (R) is false.
(d) (A} is false but (R) is true.

(1) (b
(2) (a)
(3) (o)
(4) (d)

A1 21 T Ted T §, w0 e (A) T4 90 % oA (R) FE T A el T e w6 weEe 9w

Wﬂﬁﬂl:

HAT (A) : AfE AT =LA B, UH G TR F qW G ag i

T (R) : ol wel wiey 1 get aafy A o e % s e 8 e a o 5fg % w6
e o FEd 2

(a) (A) @1 (R) SFi He & 9201 (R), (A) =i && =me w5 8

(b)  (A) 1 (R) €I 6e% & 991 (R), (A) 1 H& =20 =& o @

(c) (A) & & T (R) 59 &

(d) (A) 871 & g (R) § &

() (b)
(2)  (a)
3 (o)
(4) (d)
Options:-

«1, Option ID :- 657,
= 2, Option ID :- 658,
= 3, Option ID :- 659,

= 4, Option ID :- 660,
Answer Given;- 3, Option ID : -659
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Question ID:- 166
For the given segment of a circuit, match the following List - I and List - II for V 5
1oV
Ao—< {—A\WWW—<—<B
20
List - 1 List - 11
(A) Ifi=5A (F) Vap=10V
(B) TIfi=DA (@) Vag=0V
(€) Ifi=-5A (r) V,g=20V
(A) (B) (C)
1 @ @ (@
2 @ M O
(3 ) @
4 @ P W
A4 Tedl 18 uftey & fau, g=i-1 9900 Gei-1 F1 V,, % v gifae =wifau
1oV
Ao—e——f—AMMW—<—B
20)
-1 =31
(A) =T i=5A (p) V=10V
(B) &fE i=0A (@ V=0V
(C) #fg i=—5A () Vp=20V
(A) (B) (O
1 (@ @ 0
@ @ P O
3 0 @ @
4 @ P @
Options:-
«1, Option ID :- 661,
= 2, Option ID :- 662,
= 3, Option ID :- 663,
= 4, Option ID :- 664,
Answer Given:- 1, Option ID : -661
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Question ID:- 167

An electric dipole of dipole moment 2 % 10~ % Cm is placed inan uniform electric field of magnitude
6 x 108 N/C such that the axis of the dipole makes an angle of 30° with the direction of the field.
The magnitude of torque acting on the dipole is :

(1) 2x10°*Nm
(2) 4%1077 Nm
(3 6x1071 Nm
(4) 104%10~% Nm

2% 10~8 Cm fgua syl 3 faeft forga 5y =1 6 x 10* N/C Wl 3 wehamr fagge 49§ o0 wam v
o & o faya = sver 4 =61 foum ® 307 &1 9 S §1 39 YE W S a9 Al o i # -

(1) 2%10-% Nm

(2) 4x10-* Nm

(3) 6x107% Nm

(4) 104x10~* Nm

Options:-

=1, Option ID :- 665,
« 2, Option ID :- 666,
« 3, Option ID :- 667,

= 4, Option ID :- 668,
Answer Given:- 3, Option ID : -667

Question ID:- 163

Let ng, ny, ny and ny be the refractive indices of crown glass for red, yellow, blue and violet
colours respectively. Which of the following sequence is correct ?

(1) ny<ng<ng<ny

(2) ny<ny<ng<ng

(3 np<ny<ng<nyg

4 Np = My > Ap = Ny
R i B Y
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N, Ny, Ny T4 11y, 56737 i o foTn men: o, en, e ofn St 40 % sredais &1 Frefafas s
HHHA W HE § 2
(1) ny<ngp<ng<ny
(2) ny<ny<ng<ng
(3) ngp<ny<ng<ny
(4) np>ny>ng>ny

Options:-

=1, Option ID - 669,

« 2, Option ID :- 670,

« 3, Option ID - 671,

= 4, Option ID :- 672,
Answer Given:- 3, Option ID ; -671

Question ID:- 169

A particle moves with different uniform speeds v, 2v, 3v, . . ., nv in equal intervals of time. The
average speed of parlicle over complete journey is :

ny
) =
2 {n — 1)v
2
(n+ 1)v
(B

UF U] ¢ G % HEF et 8 fafes v weE el v, 2y, 3y, L, ny H EEA § 1 w0 R el A g
a8

W -
(n — 1)v
(2) 3
(n + 1)v
B
(4) (+1v
Options:-

«1, Option ID - 673,
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=« 2, Option ID :- 674,
= 3, Option ID :- 675,

= 4, Option ID :- 676,
Answer Given:- 3, Option ID : -675

Question ID:- 170
_}
A particle is projected with a velocity v in vertical direction from top of a tower 100 m high. The

-
particle is 10m above top of tower at t=1s and 20m below top of tower at t=4s g is acceleration

: — —»
due to gravity. v and g are:

(1) v=15 ms—! upwards
g =10 ms™* downwards
(2) wv=15 ms™! downwards
g=10 ms~ 2 downwards
(3) v=10 ms~! upwards
g=5 ms ¥ downwards
(4) v=15 ms~! upwards

= ==K
g=>5 ms™ = downwards

faredt 100 m 359 Fa F frar | ffe a0 3 oty oo & viifm fem s 31 fig = s 3 %

@ § 10 m 5 & 747 t=4s WA F @R F 20m A &1 g T oo ¥ P s 2
(1) v=15ms ! 1 F #X
g =10 ms—2 19 =i R
(2) v=15ms—! " & #R
g=10 ms~ = = & 3N
(3) v=10ms ! T F R
g=5ms 2 = FH AR
(4) v=15ms' T F 3N
g=5ms—2 Fi9 & 31
Options:-
«1, Option ID - 677,

s 2, Option ID :- 678,
« 3, Option ID :- 679,
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« 4, Option ID :- 680,
Answer Given:- 1, Option ID : -677

Question ID:- 171

In figure, blocks A and B have masses 2M and M respectively. Block A lies on a rough horizonatal
surface (., co-efficient of friction). The string connecting A and B is massless; inextensible, The

pulley too is massless and frictionless. An external force ]5 is applied on A, and system moves with

a uniform speed. On reversing direction of F and reducing its magnitude to (%], the system

accelerates with block B moving downwards with acceleration a. The string remains taut a is:

F<A]

(1) (2=3u)(g/3)
(2 (3—2u)g/3)
(®  2-3u)(g/6)
(40 (3—2u)(g/6)

e, =i A #717 B % 5219 AT 2M S M B | =T A TR AT 98 (0 T9 ). A SR B
12T Al 26 germ-ten ad AT €1 e ot 2 - A e s ) s A T U TR aE

§ ST Fn & aen PR T e e & v e €1 § ) e farie e aen e afe (4)

% 92R W; e e 3 ofn i 90 g0 =i B T a FL A €| S 1 gS Wt Bl oa HOHE
g

F41A

(1) @—3u)g/3)
(2)  (3—2u)g/3)
(3 (2-3nu)g/6)
(4)  (3=2u)(g/6)

Options:-
«1,; Option ID - 681,
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=« 2, Option ID :- 682,
= 3, Option ID :- 683,

= 4, Option ID :- 684,
Answer Given:- 2, Option ID : -682

Question ID:- 172

A particle of mass m at rest at t=10 is under the action of a force F varying with time. The
instantaneous power (= p) delivered to particle is
p=g ¥l

where ¢ is a constant. F is proportional to :

m (%)
2 (94) +1

(3) n+2
(4 n+1

t=0 T 58 § m 5590F =1 U (98 Uk T9d & 919 =1 99 F & Sa0d S &) five = e @9 aet
AR A (p) p=c t"*+ ! ¥ Ffua o1 7 &1 =8 c T Frdis €1 F e aereed g ?

M (34)
(2 (94)+1

(3) n+2
(4) n+l1
Options:-

= 2, Option ID :- 686,
« 3, Option ID :- 687,

= 4, Option ID :- 688,
Answer Given:- 3, Option ID : -687

Question ID:- 173
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A ball of mass 400 g is at rest. The ball starts moving under the action of an external force

1
(in newton) F=2 % along x-axis. The work done on ball by applied force in time t=(3)3 s is :

(1) 4]
(2) 457
(3 5]

(4) 55]

400 g EFIA F UF TG U HE | TR TR AR g9 F=2 2 (ST H) F UNE H A F e 7 e

1
FNE| WS 7 51 W9 L= (33 s ¥ g W o ma mn e

(1) 4]
(2) 45]
(3 3]
(4) 55]
Options:-

«1, Option ID :- 689,
= 2, Option ID :- 690,
= 3, Option ID :- 6591,

« 4, Option ID :- 692,
Answer Given:- 2, Option ID : -690

Question ID:- 174

A thin uniform rod of mass M has a length 2 L. Two small solid spheres each of mass M, radius
R{<<L) are attached at the ends of the rod. The moment of inertia of system about an axis

perpendicular to length of rod at a distance {%) from one end 1s :

@ [ghe [t
o (- (Zp
3) (%JMR2+E)NH2
o (g e
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Tt woell wEee 9% W g M A= 2 L% M gSIEE a91 e R(<<L) F R B2 e 2E
TRl W STE T ¥ | o e e A (L) ol W o 6 vl o e Ae F uie: e v
dﬂ?{ﬂi?

o (5

=z
e

Options:-

«1, Option ID - 693,
« 2, Option ID :- 694,
« 3, Option ID :- 695,

« 4, Option ID :- 696,
Answer Given:- 3, Option ID : -695

Question ID:- 175

Two spheres A and B have radii 2 R and 3 R, respectively. Each sphere has a charge Q=73 e, R,
The two are connected to one another via a battery as shown in figure. In equilibrium Q, and Qj

are charges on A and B. We have [Q%E ]

@&——®

2V
(1) 1
17
(2) 1
34
(3 39
39
4 =




T3, 280 AM Response Sheet

A 31 B 21 el #) B s 2R SIRAR T wEe el W S Q=73 megR ¥1 ¥ S e we g
4 o 7 7o o uF =0 | Fafen i o &) arasmen A s B W

E——~0®

2V

AN W Q, FHTQy T [Q%J T 87

(3 1
17
2 13
34
® 39
39
4 3
Options:-

=1, Option ID :- 697,
= 2, Option ID :- 6598,
« 3, Option ID :- 699,
» 4, Option ID :- 700,
Answer Given:- 1, Option ID : -697

Question ID:- 176

A charged particle of mass m and charge g at origin of co-ordinates has a velocity .;; =¥ ? It is
accelerated by a uniform electric field

E = Eu X

extending from x=0to x=L. For x > L ; there is a uniform magnetic lield
— A
B =B i

Which one of the following statements is correct for motion of particle in region x > L 7
(1) Particle continues moving along X-axis,

(2) Particle moves in a circular path.

(3) Particle moves in a helix with axis of helix parallel to X-axis of radius KEB% " j
i 0"

(4) Particle moves in a helix having axis parallel to X-axis of radius [Bﬂ% 4 ]
(1
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Frdaliat % Teferg TOESAR o O STV A1 U A FNH A vy =vg 1 B W E =F | %
TFHAE g 6 50 a=0 Ha=L 7F @ e € x> L F o v e e A

B =B i %1 &9 x> L ¥ o, Frofafas o 8 4 % W o oh 12
(1) =W X-2381 % 3Ew 1 = w2
(2) U Uk dee 99 T T AT R

(3) W [Eu%n‘-'ﬂ fom % e (Safertt) © of F2an & < S =1 99 o F T

(4) q;ur(ﬂu%v )ﬁmﬁﬁx—m?ﬁmmﬁmﬁﬁ%ﬁwiﬁfwﬁ}ﬁﬂﬁrm%!
0Vo

Options:-

»1, Option ID :- 701,
» 2, Option ID :- 702,
« 3, Option ID :- 703,

« 4, Option ID :- 704,
Answer Given:- 4, Option ID : -704

Question ID:- 177

In a region of space there is a magnetic field
= 2y

B = (By + ox)i
By and e are positive constants, The blocks of copper and aluminum are separately vertically
suspended in a vertical position by massless strings attached to a rigid support, in this magnetic
field. Which one of the following statements 15 correct ?

(1) Copper and aluminum blocks move towards ["':] and (:] respectively.
(2) Copper and aluminum blocks move towards [?) and {_';‘) respectively.
(3) Both blocks move towards (_ ?]

(4) Both blocks move towards ( +:‘]
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farell & W o 89 B = (B, + ax)i &1 By 3R o B feo €| opell TR e | 921 geme

Sl g1 9 991 Ueiafa & 1 5o 59 9a1g & § JgE -9 vesd 71 | Freifatag see 5 9
S W UH TE § 7

(1) ST e g st (]) aon (§) 3 sfew o =@ £
(2) e gt =t ww (F) e (F) 3 v o o £
(3) 2 et () 3 e h R §)
(4) 2t i (4] % omfew o i

Options:-

=1, Option ID :- 705,
« 2, Option ID ;- 706,
« 3, Option ID :- 707,

« 4, Option ID :- 708,
Answer Given:- 4, Option ID : -708

Question ID:- 178
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Y
| A 1l 11
® ® 8 ®
R O ®@ @0 @
— @@@@
»X
’ E—Lf}r@@@@
® ® 8@ @
®® 8 ®
Yl i
je— i L —»

Fig shows X-Y plane divided mto three regions I, II and IIL There is no magnetic field in regions 1
and [II. There is a uniform magnetic field ]_3: = BE in region [L. PORS is a square coil of side [. At

t=0; end P of coil is at (—L, 0) and coil starts moving with a constant velocity v=vi. g is
imstantaneous induced exmuf in coil. € vs x graph is:

&

L

(1) ; > ¥

E
s
BIN o e i et o i e |
L Vi
(2 & T
=L 41, 5L
-m\r _______
E
Blw |......
4L 51,
i [
(3) L O [ i

8Tl A T
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(4)

- Blv

aL

4L

w
~
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Y

| A 1 11
®® e ®

R O ®@ @0 @

Y @@@@
»X
&)

° E—L—rﬂﬁﬁé
® @ @ @
® 8 ® ®

Yl i
[e— g [ —>»

Forsr 1 g srgame Xoy et o o Wit L 10 30 1 o st e F1 A 1 sl 1 | e ety A i E ) A
15 B =Bk % UH GHF Sohid &= €| PQRS 41 | 6l U %R digelt €1 (=0 W% el 1 fqu

P(— L, 0) W & 7ot Freell Foa 3 y=vi § 7 g el #1 ¢ ool | anafoes i fagg T 99
emf el ex UIH B :

E
&
1y ] e e R SR
T =N
. =L 0 L 4L 5L
(1) ‘
—-Bly
E
4
-L
(2) :
Pl fecaad
E
Blw | ...
: AL s
L o] L el
(3)
- E-]_w,.+ .......................
E
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Options:- MR e o e o L

-1, Option ID :- 709, L
=(3) Option 1D - 7 10,
« 3, Option 1D ¥711;

= 4, Option ID :- 712,
Answer Given:- 4, Option ID : -712

aL, 4L

Question ID:- 179

L, —C;—R, is a series circuit having an A.C. of r.m.s value E, and variable frequency (vjconnected
across. Ly — G, — R, is a second series circuit having an A.C. of r.m.s value L, {>E|}| and variable
frequency connec ted across. Figure shows curves | and [T for the two circuits, giving a plot of
amphludL of current (lg) in circuit versus v. Which of the followings is correct ?

II]
A I o

(1) L&=LCsR=Rs
(2) LG >LG R >Ry
(3 LiG>LG iR <Ry
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GftErd #7EfE v $RCE, rom.s WA i Wl 9 o i w6 L - C, — R, Ity uftvy daifem €)1 ufte
ST 991 E, (>E,) r.m.s W9 1 YA 9 €1 0F §E0 4vimn 9fiy L,—C,—R, ¥ F H g
T 5 | AR 11 S el | fer, S A (1) e v F o fames sui v 8 Fefate §
T 1A HE E 2

(1) LICIELECZ; E‘IZR'-‘_
(2 LiG>LG R >R,
(3 L,C,> 1,Cyi Ry < Ry

L.l Ly R R
4y T Tt R
(4) € G
Options:-

«1, Option ID :- 713,
= 2, Option ID :- 714,
« 3, Option ID :- 715,
= 4, Option ID ;- 716,
Answer Given:- 3, Option ID : -715

Question ID:- 180
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R R
—— AW ——AAA—
©
E, sin wt

Figure shows an A.C circuit. P, is power consumed in circuit. Resistance R is replaced by an

inductor of reactance R. The power consumed in circuit is P, . [I%q Jis :
(1

@ (%)

& (%)

@ (%)

R 2R
—VVW——"NANV—

©
E,, sin wt

o

ot & v et (AC) fies S e €1 wftey F = =t e St Py ¥ ufive F wfei R R
wfeere 3 e @ wEe 9 W o I P, ¥ [I‘%] F T E :

(1) 1

@ (%)
@ (%)
@ (%)
Options:-

«1, Option ID :- 717,
= 2, Option ID :- 718,
« 3, Option ID :- 719,
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« 4, Option ID :- 720,
Answer Given:- 3, Option ID : -719




